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Q1.“Curie” is the unit of
(a) Radioactivity/ fearyfifar
(b) Temperature/ dGHA

(c) Heat/S™HT

(d) Energymf

Q2. Study of atmospheric phenomenaiis called -

ARIHSAT g3 & T B FIT Hgl ATal @ -
(@ Astrology@'ﬁ?ﬂ!ﬂﬁ

(b) Meteorology/3idfef-fasm

(c) Seismology/4@T fas=

(d) Astronomyf@'ﬁﬁ-ﬁ?ﬂ?

Q3. Photovoltaic cells are:
BIeldeeTs® A T §:
(a) Solar cells/ AR It

(b) Thermal cells/ e 9
(c) Sulphur cells/ TR Id
(d) Molar cells/TeR ¥d

Q4.The temperature is measured with
ATTAT % FRT AT ST 3-
(a)Altimeter/3feEHIeT

(b) PyrometerfCI@IﬁET

(c) Ammeter/TfRTex

(d) Callipers/&TauRg

Q5.The S.I unit of latent heat is
Siafifya AT ot gwas g @ 3
(a) cal-g

(b) cal/°C

() joule /kg- Je/fBaT

(d) none of these/3 8 ¥ ﬁé:@

Q6.SONAR is used by

SONAR f&¥d gRT SuaNT foban oirat &
(a)Astronauts/3fdfer It
(b)Doctors@ﬁff

(c)Engineers/Esifa
(d)NavigatorsFiTﬁ?

Q7.Who invented Dynamite?
STATHE FT MfawpR fores feam U2
(a) J B Dunlop/S &t S1aY

(b) Alfred Nobel/3/@3hF8 Fied

(c) James Simons/ow T T

(d) Peter Hargreaves/dTET BT‘%GH

Q8.The lightest radioactive element is

T gt Y suryHf aea HT AT R
(a) deuterium/S[cRTH

(b) polonium/aT@I=Hg

(c) tritium/fefeam

(d) uranium/a =Ty

Q9. Which part of the camera is equivalent to the retina
of human eye?

FH P PI AT YT G A & AT & THH 82
(a) Lens/a

(b) Film/ftre

(c) Aperture J3TTRR

(d) Shutter/RIeX

Q10. When the door of refrigerator is opened in a closed
room, then:

W U §¢ AR H IPpoNeR BT GRars @ial S g, @t
(a) room turns to be cooler /HHIT &1 HESIGI %

(b) the temperature of room falls/@HR P I R %
(c) the temperature of room is not affected/@HR BT ATTHH
T et 8 &

(d) the room becomes hotter gradually/HRT - T B/
STl &

Q11. The primary colours used in a colour TV are:
wo T &t A uged wufhe T E:

(a) Green, Yellow, Violet/gXI, i, S

(b) Violet, Red, Orange/ émﬁ qd, St

(c) Blue, Green, Red/Adl, 1, A1

(d) Blue, Green, Violet/=TaT, &1, R

Q12. A dentist’s mirror is a:

% &d Rifrere & gdurwn §:
(a) cylindrical mirror/d@THR Yo7
(b) plane mirror/AHAd YU

(c) convex mirror/3Tel ggur

(d) concave mirror/3{dad GUur

Q13. The mirror used in motor vehicles to see the rear
View Is

Hiex arg-l A 1S $1 T & g 14 1 gdor Iugi fan
ST §-

(a) Biconcave/fg3raaat

(b) Convex/3Td

(c) Plane/dHdA

(d) Concave/3{ddd

Q14. In Sl units the unit of power of alens is
TS A P T Pt S| IPTE FAT -

(a) Metre/HieR

(b) Poundem/digH

(c) Watt/dlc

(d) Diopter/STS3MTR

Q15. Minus 40 degree centigrade is equal to __ degree
Fahrenheit.

AaH 40 T AdNs _ M vRAeEc I R .

(a) 104

(b) 122

(c)-40

(d) None of these



S1. Ans.(a)
Sol.The curie (symbol Ci) is a non-Sl unit of radioactivity

S2. Ans.(b)
Sol. Study of atmospheric phenomena is called
Meteorology

S3. Ans.(a)

Sol. The conversion of light energy into electrical energy
is based on the phenomenon called photovoltaic effect.
A photovoltaic cell is the basic unit of the system where
the photovoltaic effect is utilized to produce electricity
from light energy. Silicon is most widely used
semiconductor material for construction photovoltaic
cell.

S4. Ans.(b)
Sol. Pyrometer is an instrument for measuring high
temperatures, especially in furnaces and kilns.

S5. Ans.(c)
Sol. The Sl unit of latent heat is joule per kilogram

S6.Ans.(d)

Sol.Sonar is atechnique that uses sound propagation to
navigate, communicate with or detect objects on or
under the surface of the water, such as other vessels.It
is used by Navigators.

S7. Ans.(b)

Sol. Dynamite is an explosive made of nitroglycerin,
sorbents (such as powdered shells or clay) and
stabilizers. It was invented by the Swedish chemist and
engineer Alfred Nobel.

S8. Ans.(c)
Sol. Tritium is a radioactive form, or “isotope”, of
hydrogeni,it is the lightest radioactive element.

S9. Ans.(b)
Sol. Film of Camera is equivalent to retina of Eye. On
retina and on camera the image of object is formed.

S10. Ans.(d)

Sol. When the door of the refrigerator opened is a
closed room, the room becomes hotter gradually
because of the gas of the refrigerator.

S11. Ans.(c)

Sol. In electronic visual displays, the Primary colours
normally used are red, green and blue. Primary colours
are sets of colours that can be combined to make a
useful range of colours.

S12. Ans.(d)

Sol.Dentist’s mirror is concave. It is also called
converging mirror. This mirror is used in reflecting
telescopes, gather light from a small source, to form
optical cavities etc.

S13. Ans.(b)
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Sol. The convex mirror produces an upright image of
any object and offers a wide viewing area as compared
to the plane mirror. The usage of this type of mirror can
be perceived on the car rear-view mirror.

S14. Ans.(d)
Sol.S.1 unit of power is diopter

S15. Ans.(c)
Sol. Minus 40 degree centigrade is equal to -40 degree
Fahrenheit.

Q1. Who is known as father of Taxonomy

Fiffevor fagm & a1 & o & frA s o 3
() Angler/aTeR

(b)Aristotle/gRTIed

(c) Linnaeus/feiH3rg

(d) None/@Ts g

Q2. Ringworm is a disease caused by
a1e fHud R g areht v S @2
(a)Fungi/®d®

(b) Bacteria/Sary]

(c) Virus/dIg¥q

(d) Flies/mfRagt

Q3.Scurvy (bleeding of gums) is caused by deficiency of
which vitamin?

Thdl (AgS! @1 @) fea fefim 3t o & sror gar
(]

(a)Vitamin K

(b) Vitamin B2

(c) Vitamin C

(d) Vitamin A

Q4.Tuberculosis is caused by a

Tufes frads RO gl 32
(a) Bacterium/\_rﬁHTUl

(b) Virus /A1g3d

(c) Fungus /[hd&

(d) Protozoa/JeTsa3(T

Q5.Plant which grow in saline soil are—
T S A ReRm TR A A § —

(a) Xerophytes/a@@%"ls_c'}l

(b) Hydrophytes/8TEgIhTECH

(c) Halophytes/gTATTZCH

(d) Succulents/FagicH

Q6.The PH of human blood is between
TG 79 BT PH forad ST 8-

(a) 6.5-7

(b) 7.35-7.45

(c) 8-9

(d) 4.5-5

Q7.Homo sapien is the scientific name of —



gt i faeT aqnfe A § —
(a) Honeybee/ﬁﬂﬂﬂ@

(b) Monkey/daX

(c) Man/"I

(d) Tiger/dTd

Q8.TMV is related to —
™V fret Tefea 3—
(a) Virus/Aigx™

(b) Evolution/ SHHNTA 37T
(c) Algae@aﬁf

(d) Reproduction of/UsIH=

Q9. Five Kingdom classification was given by

B154 [HiTen Fafiih b RAihad gRT four T ur?
(a) Whittaker/@Tge®HR

(b) Heackel/%ﬂ%

(c) Linneus/fafserg

(d) Copeland/?ﬁtla%’

Q10. Viticulture is Study and Production of ?
frftper ferast Tt o1 sreaa 3R Sare 82
(a)Gauva/3H¥xq

(b)Grapes/3R

(c) Mango/3™H

(d)AppleAs

Q11. The vitamin which is generally excreted by humans
inurine is

TS GRT STAR W 99 & 1 41 faefs swffa
gare

(a) Vitamin A

(b) Vitamin D

(c) Vitamin C

(d) Vitamin E

Q12. Alarge blood vessel that carries blood away from
the heart is called —

TS TS I AIfePT S G B g A ¥ A K § IH A
HEI AT S -

(a) Vein/ Yaadrigt

(b) Artery/eFT

(c) Capillary/& 1T

(d) Nerve/dfeT

Q13.Which is the oldest organism on the earth ?
gt UR e R St A1 82

(a)Blue green Algae/ﬁ}ﬁ@‘ﬁa’fﬁ
(b)Amoeba/3HiaT

(c)Fungi/®dd

(d)Euglena/graT

Q14.Average blood pressure of a human is
U BT 3iRad IFaaTy faa=n 82

(2)60/120

(b)100/200
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(c)20/80
(d)120/80

Q15.Which of the following are longest cells of human
body?

fFrafafad % 3 $19 W@ ara TR 3 99 @t FifRee
&

(a) Pancreatic cells /AT HIRTHTY

(b) Epethelial cells/3U&dT HIRIHBTT

(c) Nerve cells/d®T HIABIY

(d) Epidermal cells/3if=ififer ®RPTE

Solutions

S1. Ans.(c)
Sol.Linnaeus is known as father of Taxonomy.

S2. Ans.(a)

Sol.Ringworm of the skin (tinea corporis) is most
commonly caused by the fungus Trichophyton rubrum,
which spreads from one person to another.

S3. Ans.(c)
Sol.Scurvy is caused due to deficiency of Vitamin C.

S4. Ans.(a)

Sol.Tuberculosis (TB) is an infectious disease usually
caused by the bacterium Mycobacterium tuberculosis
(MTB). It generally affects the lungs, but can also affect
other parts of the body.

S5. Ans.(c)

Sol.Halophytes are salt-resistant or salt-tolerant plants
that thrive and complete their life cycles in soils or
waters containing high salt concentrations.

S6. Ans.(b)
Sol.A normal blood pH is tightly regulated between 7.35
and 7.45.

S7. Ans.(c)
Sol.Homo sapiens. is the scientific name for the human
species.

S8. Ans.(a)
Sol.TMV is a virus.

S9. Ans.(a)

Sol. Robert Whittaker was the first to propose the five-
kingdom taxonomic classification of the world's biota
into the Animalia, Plantae, Fungi, Protista, and Monera
in 1969.

S10. Ans.(b)
Sol. Branch of biology deals with Grapes is called
Viticulture.

S11. Ans.(c)
Sol. The vitamin which is g-enerally excreted by humans
in urine is Vitamin C.



S12. Ans.(b)
Sol. Arteries carry oxygenated blood away from the
heart to the tissues.

S13. Ans.(a)
Sol.Blue green Algae are the oldest organism on the
earth.

S14.Ans.(d)
Sol.Normal huaman blood pressure is 120/80.

S15. Ans.(c)

Sol. The longest cells in the human body are nerve cells.
The longest cells in the human body are the nerve cells
whose cell bodies are located in the base of spinal cord
and whose axons run down to the ends of toes.

Q1. Who invented steam Engine?
T S5 BT SfaspR fhaq fpar?
(a) Robert Watson (QAIJTSI?,FGV'IEE?)

(b) James Watt (QT\"-IG'IE)

(c) William Harvey(faferam grd)

(d) Michael Faraday (T3 B_TS)

Q2. Tata institute of Fundamental research is located in
(a) Bangalore (aTl?ﬁT)

(b) Kolkata (PTIBTdT)

(c) Delhi (faeeth)

(d) Mumbai (Hs3)

Q3. National chemical Laboratory is situated at
AP AT ST R 8

(a) Lucknow (F913)

(b) New Delhi (7§ faeeh)

(c) Pune (E{@f)

(d) Hyderabad (33319TE)

Q4. Isotopes are those atoms of the same element which
have-

STFHINY 39 dedl & U] & for P Ir-

(a) Atomic mass is same but atomic number is different
(R SEHT THH § IRHA] SReAT ST )

(b) Atomic mass is different but atomic number is same
(R SEHT 3{ERT § URHTY] I THH )

(c) Atomic number and atoms mass both are same

(CRET] TR 7R GRATY] geref g 90 &)

(d) None of these. (sﬂﬁﬁﬁé%“f.)

Q5. Monazite is an ore of-
WSS TP 3 ©-
(a) Zirconium Wﬁqﬂ)
(b) Thorium (dTfam)

(c) Titanium (CTZca™)

(d) Iron (Fﬁ%')

§)=aash § )
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Q6. Which of the following materials has the highest
electrical conductivity?

Fafafea amial § @ 999 it fagga araewar fead
2

(a) Diamond (Eﬁ?[)

(b) Silver (RieaR)

(c) Graphite (IBIST)

(d) Wood (a1

Q7. Which one of the following alloys is called an
amalgam?

o & & 1 W iy o1g +) v fyor w1 wrar 82
(a) Zinc - Copper (ﬁ|$ - $‘|"cr\r)

(b) Copper - Tin (aﬁ'ﬂTﬁ:f)

(c) Mercury - Zinc (URT - ﬁlﬁ

(d) Lead - Zinc (drs-fSi®)

Q8. For the diamonds, the unit of weight is carat. One
Carat is equal to-

R & R, a0 P 351E Pe 8. TP P WR &

(a) 100 mg

(b) 200 mg

(c) 300 mg

(d) 400 mg

Q9. According to weight, the percentage of Hydrogen in
water (H20), is?

T & AR, UL & §TEgIe &1 Ufa=id (H20), 872

(a) 44.45%

(b) 5.55%

(c) 88.89%

(d) 11.11%

Q10. Permanent hardness water is due to

Tt F RIRf FSRA1 F a9E 7

(a) Chlorides and sulphates of calcium and Magnesium
(PfexrmH 3R AIRTH & FARES IR TehIe)

(b) Calcium bicarbonate sulphates

(SR fSpRENT Idhew)

(c) Magnesium bicarbonate

(d) Clorides of Silver and Potassium

(iR 3R URREH & FARZSY)

Q11. Which is used as Laughing gas is-

T IuahT g9 arelt A & =0 & fsam S 32
(a) Nitrous Oxide (IS HIRIZS)

(b) Nitrogen dioxide (TTS¢IoM ST33ITSS)

(c) Nitrogen Trioxide (TR @TEI&ITQHI'i\%)

(d) Nitrogen Tetra Oxide (ATSEIoM <gT SHIRIZS)

Q12. Goldsmiths uses aqua regia, which is prepared by
mixing?

TMes e teT ST ST HRar g, st fiysor-
FRT AR 3 wima 2.

(a) Nitric acid and sulphuric acid



(e TS SR TR TRrS)

(b) Nitric acid and Hydrochloric acid

(Efee TS 3R BrgiaiiR TRre)

(c) Sulphuric acid and Hydrochloric acid

(@RI TR IR RIS TRre)

(d) Citric acid and Benzoic acid

(GIEERUREEINE K ECAURE)

Q13. Which one of the following catalysts is used for
hydrogenation of vegetable oils?

Tl A6l & gEgeHeR & e FE A A B A
IER® IuAnT f3ar i 32

(a) Zinc dust (ST YeT)

(b) Nickel (R

(c) Iron (3{TERA)

(d) copper (EI'IQ)

Q14. RDX was invented by
RIITRT FT ATTAHR T AT:
(a) Alfred Nobel (3/@h8 FIad)
(b) Soddy (SIS

(c) Bergillins (Sfifer)

(d) Henning (%ﬁ"T)

Q15. Which one among the following is called
philosopher’s wool?

Frafafea 4 & f5d arife S g1 omar 32

(a) Zinc Bromide (ST STSS)

(b) Zinc Nitrate (ST T8CE)

(c) Zinc Oxide (N 3HFATES)

(d) Zinc Chloride (ST FIRTSS)

1.Ans(b)

Sol. More significant improvements to the steam engine
were made by Scottish engineer and inventor James
Watt in 1763. So due to this reason he is regarded as the
inventor of the steam engine.

S2.Ans(d)

Sol. Tata institute of Fundamental Research which
Homi Bhabha founded on 1st June 1945 with the
support from the Sir Dorabji Tata. It is located in
Mumbai.

S3.Ans(c)

Sol. The National Chemical Laboratory (CSIR-NCL),
Pune was established in 1950 is a constituent laboratory
of the Council of Scientific and Industrial Research
(CSIR).

S4.Ans(b)

Sol. The Isotopes are a set of nuclides/atoms having the
same number of protons, but a different number of
neutrons. In other words, the same atomic number
having different atomic mass.

S5.Ans(b)
Sol. Monazite is an important ore for Thorium,
Lanthanum and Cerium. India, Madagascar and South

§)=aash § )
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Africa have large deposits of monazite sands.

S6.Ans(b)
Sol. Silver has the highest electrical conductivity of all
metals.

S7.Ans(c)
Sol. An amalgam is a substance formed by the reaction
of Mercury with another metal.

S8.Ans(b)
Sol. The carat(ct) is a unit of mass equal to 200 mg and
is used for measuring gemstones and pearls.

S9.Ans(d)

Sol. Percentage of composition is the percentage by
mass of each element present in a compound.

In Water, H20 =2 + 16 = 18 g/mol

molecular weight of water 18.0152 grams.

No. of Hydrogen atoms present in water = 2

~ Percentage of Hydrogen in water
=2/18x100=11.11%

S10.Ans(a)

Sol. Drinking water is described “hard” due to the
presence of highly dissolved minerals specifically
sulphates and chlorides of Calcium and Magnesium . It
is very difficult to wash clothes with hard water is it
require more soap and leaves a messy scum that cannot
be washed out easily.

S11.Ans(a)
Sol. Nitrous Oxide (N20) is also known as laughing gas.

S12.Ans(b)

Sol. Aqua Regia is an acidic, corrosive and oxidative
mixture of three parts concentrated hydrochloric acid
(HCI) and one part concentrated nitric acid (HNO3).

S13.Ans(b)

Sol. Hydrogenation is a chemical reaction between
molecular hydrogen and another compounds or
elements, usually in the presence of a catalyst such as
Nickel, Palladium or Platinum.

S14.Ans(d)

Sol. RDX is powerful explosive discovered by Georg
Friedrich Henning of Germany

and patent in 1898 but not used until World War Il when
most of the warring powers introduced it.

S15.Ans(c)
Sol. The compound Zinc Oxide (ZnO) is called
philosopher’s wool.

Q1. Who invented steam Engine?
w4 9 &1 SfawpR fram fasar?
(a) Robert Watson (ﬁﬁé GV'IEH?)

(b) James Watt (QT{-IG'IE)

(c) William Harvey(f3feras g1d)



(d) Michael Faraday (AISd thg)

Q2. Tata institute of Fundamental research is located in
(a) Bangalore (aTIT*ﬁT)

(b) Kolkata (PTAHTT)

(c) Delhi (faeeth)

(d) Mumbai (H3)

Q3. National chemical Laboratory is situated at
AP I waRTRTe fRud 3

(a) Lucknow (SI913)

(b) New Delhi (78 faeeh)

(c) Pune (Elﬂ)

(d) Hyderabad (3exT913)

Q4. Isotopes are those atoms of the same element which
have-

JTFHIENY 3 dedl & UHY] & for A Ir-

(a) Atomic mass is same but atomic number is different
(R ST T § URHAT] SReAT ST )

(b) Atomic mass is different but atomic number is same
(R ST 37eRT § URHTY] IR THH 2)

(c) Atomic number and atoms mass both are same

(SRATY] TR 37R GRATY] geref g T8 §)

(d) None of these. (sqfr@rﬁé:rsﬁ)

Q5. Monazite is an ore of-
TS TP 3R 2-
(a) Zirconium mﬁqﬂ)
(b) Thorium (dTfam)

(c) Titanium (ST3cfAa™)

(d) Iron (@18

Q6. Which of the following materials has the highest
electrical conductivity?

Frafafea amial & @ v it fagga araear fead
)

(a) Diamond ("(ﬂ"\r[)

(b) Silver (RieaR)

(c) Graphite (IBT3T)

(d) Wood (&g

Q7. Which one of the following alloys is called an
amalgam?

e o @ 19 W iy urg &) v Mrgor we1 wrar 82
(a) Zinc - Copper (Rf& - HIWR)

(b) Copper - Tin (®TR-fe)

(c) Mercury - Zinc (URT - ﬁ@)

(d) Lead - Zinc (ciTe-fSids)

Q8. For the diamonds, the unit of weight is carat. One
Carat is equal to-

R P forg, a5 Pt SHTE BIe 8. TP P T 8-

(a) 100 mg

(b) 200 mg
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(c) 300 mg
(d) 400 mg

Q9. According to weight, the percentage of Hydrogen in
water (H20), is?

qO & SR, T gTEgIe P Ufasrd (H20), 82

() 44.45%

(b) 5.55%

(c) 88.89%

(d) 11.11%

Q10. Permanent hardness water is due to

Ut Bt RITH FERAT B 798 §:

(a) Chlorides and sulphates of calcium and Magnesium
(PfexTH 3R FARTH $ FIRES 3R TehIe)

(b) Calcium bicarbonate sulphates

(PR fSpRENT Idhew)

(c) Magnesium bicarbonate

(d) Clorides of Silver and Potassium

(RyeaR 3R URREH & FaRESY)

Q11. Which is used as Laughing gas is-

a1 IuahT g areft 79 & &u & far wmar 32
(a) Nitrous Oxide (T3S HTRIZS)

(b) Nitrogen dioxide (ATggISTH S]E'Gde{-llsS)

(c) Nitrogen Trioxide (IS¢ §'qude{-||$5)

(d) Nitrogen Tetra Oxide (ATSCISH 22T JHTRIZS)

Q12. Goldsmiths uses aqua regia, which is prepared by
mixing?

TesfRrs et A w1 Iuam aRar g, &t fgor
FRT AUR fobar s 2.

(a) Nitric acid and sulphuric acid

(e TS ofR FewgRed TRrs)

(b) Nitric acid and Hydrochloric acid

(sie® TS ofR TR IaNG TRiS)

(c) Sulphuric acid and Hydrochloric acid

AR TS 3R BRSNS URS)

(d) Citric acid and Benzoic acid

[@sies RS 3R dolige TRrs)

Q13. Which one of the following catalysts is used for
hydrogenation of vegetable oils?

gAY Ael & FIESIA-avl & fore g o § S
IAR® IUANT farar e 82

(a) Zinc dust (ST Y1)

(b) Nickel (Fidan

(c) Iron (3{TERA)

(d) copper (@)

Q14. RDX was invented by
RSITRT BT ATfIsH TR foam o:
(a) Alfred Nobel (3/@Fs FIad)
(b) Soddy (HTEh)

(c) Bergillins (@fiffer)

(d) Henning (&)



Q15. Which one among the following is called
philosopher’s wool?

Frafafea & 9 5 arife 3 e o g2

(a) Zinc Bromide (ST SHHTSS)

(b) Zinc Nitrate (ST TgCT)

(c) Zinc Oxide (W& TRTZS)

(d) Zinc Chloride (SRl FIRTSS)

S1.Ans(b)

Sol. More significant improvements to the steam engine
were made by Scottish engineer and inventor James
Watt in 1763. So due to this reason he is regarded as the
inventor of the steam engine.

S2.Ans(d)

Sol. Tata institute of Fundamental Research which
Homi Bhabha founded on 1st June 1945 with the
support from the Sir Dorabji Tata. It is located in
Mumbai.

S3.Ans(c)

Sol. The National Chemical Laboratory (CSIR-NCL),
Pune was established in 1950 is a constituent laboratory
of the Council of Scientific and Industrial Research
(CSIR).

S4.Ans(b)

Sol. The Isotopes are a set of nuclides/atoms having the
same number of protons, but a different number of
neutrons. In other words, the same atomic number
having different atomic mass.

S5.Ans(b)

Sol. Monazite is an important ore for Thorium,
Lanthanum and Cerium. India, Madagascar and South
Africa have large deposits of monazite sands.

S6.Ans(b)
Sol. Silver has the highest electrical conductivity of all
metals.

S7.Ans(c)
Sol. An amalgam is a substance formed by the reaction
of Mercury with another metal.

S8.Ans(b)
Sol. The carat(ct) is a unit of mass equal to 200 mg and

is used for measuring gemstones and pearls.

S9.Ans(d)

§)=aash § )
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presence of highly dissolved minerals specifically
sulphates and chlorides of Calcium and Magnesium . It
is very difficult to wash clothes with hard water is it
require more soap and leaves a messy scum that cannot
be washed out easily.

S11.Ans(a)
Sol. Nitrous Oxide (N20) is also known as laughing gas.

S12.Ans(b)

Sol. Aqua Regia is an acidic, corrosive and oxidative
mixture of three parts concentrated hydrochloric acid
(HCI) and one part concentrated nitric acid (HNO3).

S13.Ans(b)

Sol. Hydrogenation is a chemical reaction between
molecular hydrogen and another compounds or
elements, usually in the presence of a catalyst such as
Nickel, Palladium or Platinum.

S14.Ans(d)

Sol. RDX is powerful explosive discovered by Georg
Friedrich Henning of Germany

and patent in 1898 but not used until World War Il when
most of the warring powers introduced it.

S15.Ans(c)
Sol. The compound Zinc Oxide (ZnO) is called
philosopher’s wool.

Q1. Match List-1 with List-Il and select the correct
answer from the code given below:

List-l List-Il

(Physical Quantities) (Units)

A. Acceleration 1. Joule

B. Force 2. Newton second
C. Work done 3. Newton

D. Impulse 4. Metre/second?

G- B G- F a1y Framd ok R fiw e wrs A wd
IR BT TG PV

List-l List-ll

(Hifaes | EPTS)
A. @R 1. qﬁm

B. 99 2. e

c. o 3. e

D. T 4. Hie/ AHs2

Sol. Percentage of composition is the percentage by

mass of each element present in a compound.
In Water, H20 =2 + 16 = 18 g/mol

molecular weight of water 18.0152 grams.

No. of Hydrogen atoms present in water = 2

~ Percentage of Hydrogen in water
=2/18x100=11.11%

A B C D
(@) 1 2 3 4
(b) 3 4 1 2
© 2 3 4 1
(@ 4 3 1 2

S10.Ans(a)
Sol. Drinking water is described “hard” due to the

Q2. Which one of the following thermometers is known
as pyrometer?

fFrufafad § @ =ar yafdier e rRidier & su d




ST ATl 32
(a) Thermo-electric thermometers/ﬂﬁf—%ﬁm AR
(b) Radiation thermometers/fafaur yAfieR

(c) Gas thermometers/Ag YA
(d) Liquid thermometers/dRdl AR

Q3. Which of the following quantities is measured on
the Richter scale?

Frafafea & 9 g amr faex 39 o |5 S 32
(2) Speed of a glacier/ie TARRTR B i

(b) Population growth/S-EveT g

(c) Intensity of an earthquake/‘l-ljiv'q CAKIER

(d) Temperature inside the earthfqza:l & R @1 aIEE

Q4. As the train starts moving, the head of the
passenger sitting inside backward because of-

R & I T T Bl A1 B, e S T BT IR
frad HRU A Y SR ST R -

(a) Inertia of Rest/fRRaT &1 SScd

(b) Inertia of Motion/TT(d ®T STed

(c) Moment of Inertia/ﬂ@,?lTI@ﬁl

(d) Conservation of Mass/GeaH &t R

Q5. The nature of radiation of light is-

w1 BT fafsur fra upfa a1 2 -

(a) Like wave/a¥iiia

(b) Like particle/@uflg

(c) Like both of wave and particle@ﬂﬁ 3R Pufig gAY
(d) Like neither of wave nor of paﬁicleﬂTWﬂq R Bl
Eauin|

Q6. The number of images of an object placed between
two parallel mirrors is:

3 AR guu & ST 3t avg 3 ol it wen
i gt &

(a) Two/al

(b) One/Uh

(c) Six/E

(d) Infinite/3d

Q7. The remove the defect of long sightedness on use-
dref = 9 & Srua | foraeT SuaT far S g -

(a) Concave lens/3{ddd g

(b) Convex mirror/3cl Y

(c) Convex lens/3dd S|

(d) Concave mirror/3{ddel gy

Q8. The normal temperature of human body is 98.4°F.
It’s equivalent temperature is °C is-

A9 IR &7 I 9199 98.4 f&h vR-gee 8. f&h
AfRad § a8 auEH B 8-

(a) 40.16

(b) 36.89

() 35.72

() 32.36
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Q9. Aradar which detects the presence of an enemy
aircraft uses:

TS TSR Sl U g¥A & Rl &t diserh &1 gar emar @
IHH fFaeT IuahT g &

(a) Light waves/ UdhIRI LR

(b) Radio wavesRf&a) a3

(c) Sound waves/@R a3

(d) Ultrasound waves/3{CRISS a<il

Q10. Decibel is used to measure-

Sitea fHA 9o & e I faar sirar & -
(a) Hemoglobin in bloodRad H gHARaeA

(b) Sugar in urineﬂiﬁﬁ Cinil

(c) Sound in atmosphere/ CIGICRUR:K=IE]

(d) Particles in air/gaT § &7

Q11. An electric bulb of 100 watt is used for 4 hours.
The unit of electric energy used is-

100 TTC BT TS fIoTell Ted 4 U F I IugT forar Siren ©.
ot faggd Suf gfie A Tua grd & -

(a) 400

(b) 25

(c)4

(d) 0.4

Q12. Which one of the following can not be used as a
nuclear fuel?

fFrafafEa & & w1 te R $2M & ©u § IuEhT T8l
foran i Iar 22

(a) Uranium/gead

(b) Thorium/ATad

(c) Calcium/ierraH

(d) Plutonium/@\aﬁﬂﬂ

Q13. The official code name of the Pokhran nuclear test
1974, was

TRARUT TRHTY] U1 19 4 BT MRIBIRG HIs 10 T
Yr?

(a) Smiling Buddha/ATSfeiT §&T

(b) ThunderBoly/4sR Siee

(c) Flying Garud/WTgT T8

(d) Agni Pareeksha/31f¥ Tien

Q14. For which word, the letter ‘G’ has been used in ‘2G
spectrum’?

fora o & forg, 2 <ff Waew A <t &1 s%auTa fvar man
g

(a) Global/

(b) Government/

(c) Generation/

(d) Google/

Q15. Daisy wheel printer is a type of-

I5ht et flier fraapT TR 2 -
(a) Laser Printer/ ToR fifer



(b) DOT Matrix Printer/@ﬁ?.’ﬁ'@ﬂﬂ eR
(c) Manual Printer/8331d fifeR
(d) Impact Printer/S9g flicx

Answers

S1.Ans(d)

Sol. Acceleration is the rate of change of velocity of an
object. The S.I. unit of acceleration is the metre per
second square (m/s2). The S.I. Unit of force is
Newton(N). The S.I. unit of impulse is the Newton
second (N. S.). The S.I. unit of work is Joule.

S2.Ans(b)

Sol. A pyrometer is a type of remote sensing
thermometer used to measure the temperature of a
surface. In the modern usage, it is a device that from a
distance determines the temperature of a surface from
the spectrum of the thermal radiation it emits.

S3.Ans(c)

Sol. The Richter scale is the most common standard of
measurement for an earthquake. It was invented in 1935
by Charles F. Richter of the California Institute of
Technology as a mathematical device to compose the
size of earth-quake.

S4.Ans(a)

Sol. When a train suddenly starts, the passenger fall
backward. This is because the lower part of the body
which is in contact with the train begins to move while

the upper part of the body tends to maintain its position.

As aresult, the upper part tends to fall backward.

S5.Ans(c)

Sol. The light has a dual nature, Sometimes it behaves
only as wave and sometimes as light. Some
experiments require light to be a wave, while others
require light to be particle. This led to the acceptance of
dual nature of light.

S6.Ans(d)

Sol. When an object is placed in between two parallel
plane mirrors, then the number of images formed will be
infinite.

S7.Ans(c)

Sol. Farsightedness (hyperopia) as it is medically
termed is vision condition in which distance object are
usually seen clearly, but close ones do not come into
proper focus. To remove this vision problem one should
use a convex lens.

S8.Ans(b)

Sol. The formula to convert Fahrenheit
(°F) to Celsius (°C) is =

°C = ((°F-32) x 5)/9

Since the temperature in °F = 98.4°

~° C =((98.4-32)x5)/9 = 36.89°C

S9.Ans(b)
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Sol. Radar is an object-detection system which uses
radio waves to determine the range, angle or velocity of
objects. It is used to detect the location of aircraft,
ships, spacecraft, motor vehicle etc.

S10.Ans(c)
Sol. ‘Decibel’ is used to measure the intensity of sound
in atmosphere.

S11.Ans(d)

Sol. The electric consumed = 100 watt x 4 hour
=400 watt hour

= 400/1000 watt hour

= 0.4 kilowatt hour

= 0.4 unit.

S12.Ans(c)

Sol. The most common fissile nuclear fuels are uranium
— 235 (235U) and plutonium -239 (239Pu). Thorium is
more abundant in nature than uranium. Thorium can be
used as a nuclear fuel through breeding to uranium -233
(U-233). Calcium is not used as a nuclear fuel.

S13.Ans(a)

Sol. ‘Similing Buddha’ (MEA designation: Pokhran-I)
was the assigned code name of India’s first nuclear
weapon explosion of May 18,1974.

S14.Ans(c)

Sol. 2G is short for ‘2nd Generation’ wireless telephone
technology which enables us to send text and picture
message and has internet capabilities.

S15.Ans(d)

Sol. A daisy wheel printer is an early type of impact
printer invented in 1969 by David S. Lee at Diablo Data
systems.

Q1. Which of the following elements was first produced
artificially?

g & & P 1 9 Ugd FRW T J I T UT?

(a) Neptunium(EFaH)

(b) Plutonium(@—@lﬁﬂﬂ)

(c) Francium (ShTRIaH)

(d) Technetium(CafcaH)

Q2. A body floats at 4°C water. If temperature reaches
100°C then-

IR 4 F&h R ot & Avar 81 afe aramr 100 f&ht
AR 9 uga wrar @ -

(a) The body will sink(XRR g& SITEM)

(b) No change(ﬁ's:qﬁﬂﬂq:i'ﬁ@"'ﬂ)

(c) More part of the body will submerge(w 1 3ifere e

RS ST
(d) The body will float freely(ﬂﬂ? WA U Y ?ﬁ"ﬂ)

Q3. Why it is easier to swim in the sea than in ariver?
TS A B gaT & [ A ORA7 = T 72
(a) The sea water is salty(¥qx T U THD A %)



(b) The sea water is deep(ﬂ'ﬂ—s{ﬁqﬁ TR %)
(c) The sea water is heavier(dqx% T BIGiRIIE] %)
(d) The sea water is lighter(§H% &I Tt 8ol %)

Q4. Light from the Sun reaches Earth in about:
T @ ot gt wR it R A ugTan 7

(a) 2 minutes

(b) 4 minutes

(c) 8 minutes

(d) 16 minutes

Q5. When light waves pass from air to glass the variable
affected are-

9 geb ail I gaT A iy o Ul Siral ¢ af

T €1 &

(a) Wavelength, frequency and velocity (FRTI%?ﬁ Gﬂ?ﬂ%{ 3R
am

(b) Velocity and frequency(a"T 3R SHT;ﬁD

(c) Wavelength and frequency(T¥? oo iR SHT;ﬁD
(d) Wavelength and velocity (<7 o 3R a"T)

Q6. Total internal reflection can take place when light
travels from:

Pd TR ufafda a9 8 Fwar & 9a YHT a
YT PR TET &

(a) Diamond to glass(STIHS Y i)

(b) Water to glass(ET ¥ T )

(c) Air to water(qTT & gam)

(d) Air to glass(‘FﬂH@BaT)

Q7. Which one of the following phenomenon is used in
optical fibres?

JifPwd BrEeR & g # & B At o1 &1 Iuah faar
AT 82

(a) Interference (S&I&T)

(b) Refraction(31addH)

(c) Total internal reflection(@d 3HidiRe fdfde)

(d) Polarisation(gd@or)

Q8. An endoscope is a-

ERPUTH § -

(a) Narrow telescope(¥dI0f graH)

(b) Type of camera(%ERT DI YPR)

(c) Simple microscope(FRd ITEWG)
(d) None of these @ﬂﬁ%ﬁé%“f)

Q9. A cut diamond shines brilliantly due to-
TP $e STUHS AR &1 A @ 518 A TS &

(a) Total internal reflection( <l SfaRk® Qﬁiﬁﬂ)
(b) Absorption of light(JeTRT ST A=)

(c) Some inherent property($® 3fdf-ifed Tufw)
(d) Its molecular structure(ST®! AU TAT)

Q10. Which of the following is used to take 3-

10
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dimentional pictures-

g & @ 319 91 3-3mart R a1 & R SuahT fovan s
&

(a) Photography(qﬁam‘ﬁ)

(b) Holography(aﬁ‘/'l?ﬁ)

(c) Radiography&%ﬁﬁ@)

(d) None of the above(STRIad H ¥ BIs gl )

Q11. An astronaut sees the colour of the sky as-

TS 3af¥er gt e & T B TEare -
(a) Blue(=tam

(b) White(J%hg)

(c) Black(ahTe)

(d) Red(dTe)

Q12. The red colour of the Sun at sunset and sunrise is
due to-

gatw au1 gaied & 9g gd & ard 91 g1 &1 BRUT 8-
(2) Scattering of light (SPTRT T TeBIU)

(b) Refraction of light(UhTRT b1 G{CIHF&D

(c) Total internal reflection of light(UPTRT T HE[Uf SaRk®
TRIGH)

(d) Dispersion of light(SeT=I ST TiR&Tun)

Q13. Reading glasses are made from which type of
lenses?

Te arel T=ET {5 A BT 9 ghar 82
(a) Concave(3{ddd)

(b) Convex(31d)

(c) Plain(HTYRTT )

(d) None of these@qﬁﬁﬁgqﬁ)

Q14. The focusing in the eye is done by

A A o Hfea frad gr v wman @2

(a) Change in the convexity of the Iens(ﬁﬂ Pt ITaar o
EENIE))

(b) To and fro movement of the Iens(ﬁﬂ F Y 3R T A
GRT)

(c) To and fro movement of the retina@ﬁ:ﬂﬁ Y IR a T
&)

(d) Change in the refractive index of the eye ﬂuid(\?rf'yl'@*
TR yerd & Sudie Yadbid | Jaard)

Q15. The mirror, which is used in searchlights, is-
gdur, St wdeg ey o IuahT i Sirar @

(a) Concave mirror(3{ddd aﬂ'UT)

(b) Convex mirror(GT-l?Ta'lfUT)

(c) Simple mirror(?-IT%I'ITUTE'lfUT)

(d) None of these(s:iﬁﬁﬁ'ic:rﬁ)

Solutions

S1. Ans.(d)

Sol. Technetium is a chemical element with atomic number
43. It was the first artificially produced element. Technetium
was isolated by Carlo Perrier and Emilio segre in 1937.



S2. Ans.(a)

Sol. When the water is heated, its density decreases. The
density of the water at 100°C is at the lowest, so the body
will sink. Water density is maximum at 4°C, so the body will
float.

S3. Ans.(a)

Sol. It is easier to swim in sea water than in a river because,
the sea water contains salt which increases the density of
water and also increases its upthrust so, the chances of
sinking get reduced and one can easily swim in such water.

S4. Ans.(c)
Sol. The sunlight takes about 500 second or 8 minutes (apx)
to reach to the earth.

S5. Ans.(d)

Sol. When light passes from air to glass or one medium to
another, then the frequency of the light remains constant but
wavelength and velocity are changed.

S6. Ans.(a)

Sol. Total internal reflection takes place when a ray of light is
travelling from denser to thinner medium and angle of
incidence is greater than the critical angle, the ray is
completely reflected from surface and meet each other as if
the surface is a mirror. So according to options, the situation
of option (a) is correct where total internal reflection takes
place, it is because diamond is denser than glass.

S7. Ans.(c)

Sol. The optical fibre is a very thin strand of glass or plastic
cable for transmitting light from one point to another. They
work on he principle of total internal reflection. There is no
loss of signal through an optical fibre.

S8. Ans.(d)

Sol. An endoscope is a medical device consisting of a long,
thin, flexible (or rigid) tube which has a light source and a
video camera. Images of the inside of the patient’s body can
be seen on a screen. It is not suitable to categorize
endoscope as a type of a camera.

S9. Ans.(a)

Sol. The refractive index of diamond is very high. Diamond
achieves brilliance partially from total internal refraction. It
has been cut or designed in such a way that if light enters
into it, incident light strikes many of the internal surfaces.

S10. Ans.(b)

Sol. Holography is a technique of producing a three-
dimensional image of an object. Holography can work with
sound, light or any wavelength. It is also been used for
three-dimensional natural films.

S11. Ans.(c)

Sol. The colour of the sky for an astronaut is black. It is
because of the fact that in the space there is no atmosphere.
Hence light doesn’t get scattered at all. In addition to this, in
space, there are no air particles against which the sunlight
can strike, get reflected or scattered. Hence, astronaut see
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everything black.

S12. Ans.(a)

Sol. Red has the maximum wavelength. During sunrise and
sunset, the rays have to travel a larger part of the
atmosphere because they are very close to the horizon.
Therefore light other than red is mostly scattered away. Most
of the red light which is least scattered enters our eyes.
Hence, the sun and the sky appear red.

S13. Ans.(b)

Sol. A convex lens is thicker in the middle and thinner at the
edges. Rays of light that pass through the lens are brought
closer together. A convex lens is also called a converging
lens. A convex lens is also used in reading glasses & it also
used to remove the defect of farsightedness.

S14. Ans.(a)

Sol. The refractive or bending power of the cornea and
humor is constant. However, that of the lens can be changed
by changing its shape. That is making it more or less convex
so that light can be properly focused on the retina. The
greater the lens convexity or bulge the more bends the light.
The flatter the lens, the less it bends that light.

S15. Ans.(a)

Sol. Concave mirror is used in the headlights of cars and in
searchlights. A light placed at the focus of a concave lens
can form a parallel beam and is used in car headlights and
searchlights.

Q1. Study of bones, are under which branch of science?
¥l &1 v, fagm &t frw e 9 82

(a) Osteology/x?ﬂf@i CEI

(b) Orology/\’:hﬂ?ﬁﬁﬁ

(c) Serology/@ﬂ?ﬁﬁﬁ

(d) Geology/";[ﬁ?lﬁ

Q2. Nilgai belong to the following family:
et Frafafea & & fea S @ 9alta &
(a) Cow/ Mg

(b) Goat/dHt

(c) Sheep/‘ﬂ?s’

(d) Deer/fgA

Q3.Yeast and mushrooms are-

THR SR AR 1§ -

(a) Algaefﬁfﬂﬂ

(b) Gymnosperm/&FI'I?ﬁTﬁTrﬁ
(c) Fungi/®ddh

(d) tuberous Roots/AR SIS

Q4. India veterinary Research institute is located at:
YR U] R SR SR Bl (A @

(a) Bareilly/'@li?ﬁ

(b) Mathura/HYRT

(c) Karnal/&®3ATd



(d) Patna/TeT

Q5. The yellow colour of human urine is due to a
pigment called-

TFa T3 $1 e T & T1ea & SR G 8 -
(@ Cytochromeﬂ%@ﬁ'ﬁ[

(b) Urochromeﬂ{ﬁﬁ'ﬁ[

(c) Haemochrome/'%ﬂ:ﬁﬁﬂ

(d) Phenolichrome/BTelishIA

Q6. 1 December, is celebrated every year as -
1 fodeR, wfe af frwd Fu A g ST 2 -
(a) World Environment Day/ﬁ%{ ygfeRo fgay

(b) World Food day/fa% @ fdaq

(c) World Aids day/fay Tg¥ faaq

(d) World Literacy Day/ﬁ’a’ &R fead

Q7. Myoglobin contains the metal-
ARG 1 W g WA F -
(a) Coppermu'lﬂ

(b) Silver/RieaR

(c) GoldATTE

(d) Iron/3RRA

Q8. EBOLA is a-

TEAITE R -

(a) Terrorist Organization/&m TiTe
(b) Deadly virus/HTdd Y

(c) AIDS Test/TH ¢

(d) None of these/?lﬁ@fﬂﬁ% EEl

Q9. Rickets disease in poultry bird is caused due to the
deficiency of which vitamin?

Tiet el # giffal wifew fefim 3t w3t & oro fdbea
IRT g B2

(a) Vitamin D

(b) Vitamin A

(c) Vitamin B

(d) Vitamin E

Q10. Match List-1 with List-ll and select the correct
answer using the code given below the lists:

List-l List-Il

(molecules) (Elements present)

A. Vitamin B-12 1. Magnesium

B. Haemoglobin 2. Cobalt
C. Chlorophyll 3. Copper
D. Chalco Pyrite 4. 1ron

- | BT G- 1 F Ay e B ok I & iR iy e

PIS P AT A HEl IWR T 999 PN
List-I List-Il
(31UD) (de)

A fdefme-12 1 &fiRmw

B. grrafaT 2. BlaTee

C. TRIfra 3. PR

D. ATeHIUTSIIZE 4. 3TARA
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ABC D
(@2413
()2134
(4123
d3421

Q11. During respiration energy is produced in the form

of:

4T & SR SHoll fpad U & Iared gl @
(a) ADP

(b) ATP

(c) NADP

(d) co2

Q12. The first heart transplant was performed by-
Ugdl ged YRl fhaas gRT foam rar o7 -

(a) Dr. William Harvey/ST. faferaw gd

(b) Sir. F.G. Hopkins/AR. TH.SH. g1afdhd

(c) Dr. Loues Pasteur/St Fﬁ TIER

(d) Dr. Christian Bernard/ST. 3973 SIS

Q13. Match List-I with List-ll and select the correct
answer with the help of code given below the lists:
List-I List-1I

A. Audiogram 1. Heart

B.E.C.G 2. Brain

C. Mammorgram 3. Ear

D. E.E.G 4. Breast

Code:

G- | BT IH- 1| F a1y e w3k A F R Ry M
PIS B TFTIAT A TGt SR BT TG DY

List-l List-II

A. Sifsaum 1.%ed

B. faggwgaw 2. AfGTSH

C. Ay 3. @M

D. fagga wfeass dw 4. &=

Fls:

ABCD

(@)1234

(b)2134

(c)4321

(d3124

Q14. Garima ll is the name of a-

TR | fraeT AT § -

(a) Cloned buffalo/aa 49
(b) Cloned cow/ga TR
(c) Cloned sheeplﬂ?ﬁ’f ﬂ?’i’
(d) Bt tomato/sicl eHIER

Q15.Five Kingdom classification was given by

uig frew aiffewur fead gr fear mar a1
() Whittaker/@TgedR

(b) Heackel/RHd@

(c) Linneus/fa=3r

(d) Copeland/@iudis



S1.Ans(a)

Sol.

Osteology - Study of bones.

Orology - Study of mountains.

Serology - Study of serum.

Geology - Study of internal structure of the earth and
matter found inside it.

S2.Ans(d)

Sol. Nilgai is the largest Asian antelope species.
Antelope are creatures, who has strong permanent
horns. There are more than 90 species of antelope.

S3.Ans(c)
Sol. Yest and mushrooms are a fungus.

S4.Ans(a)
Sol. Indian Veterinary Research Institute or IVRI is
located at Izzatnagar, Bareilly Uttar Pradesh.

S5.Ans(b)
Sol. A pigment urochrome is the reason for the yellow
colour of human urine. It is also known as urobilin.

S6Ans(c)
Sol. 1st December’s World AIDS day celebrated every
year.

S7.Ans(d)

Sol. Myoglobin is an iron oxygen-binding protein found
in the muscle tissue of vertebratesin general and in
almost all mammals.

S8.Ans(b)
Sol. Ebolais a serious and deadly virus transmitted by
animals and humans.

S9.Ans(a)

Sol. A deficiency of vitamin D makes it difficult to
maintain proper calcium and phosphorus levels in
bones which can cause rickets.

S10.Ans(a)

Sol. The correctly matched list is-
Vitamin B12 - Cobalt
Haemoglobin - Iron

Chlorophyll - Magnesium

Chalco pyrite - Copper

S11.Ans(b)

Sol. Respiration is a set of metabolic reactions and
processes that take place in the cells of organisms to
convert biochemical energy from nutrients into
Adenosine Triphosphate (ATP), and release waste
products.

S12.Ans(d)

Sol. The first heart transplant was performed by Dr.
Christian Bernard who was a famous surgeon of South
Africa.
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S13.Ans(d)

Sol. Correctly matched order are:
Audiogram - Ear

E.C.G. - Heart

E.E.G. - Brain

Mammogram - Breast

S14.Ans(a)

Sol. The team of scientists of NDRI situated in Karnal
got success to develop a clone of buffalo, named as
Garima Il, Aug, 2010.

S15.Ans(a)

Sol. Robert Whittaker was the first to propose the five-
kingdom taxonomic classification of the world's biota
into the Animalia, Plantae, Fungi, Protista, and Monera
in 1969.

Q1. Which instrument is used for measuring humidity in
the air?

AT § THI B A1 & 7T B A1 U0 STEIT
ST 8

(@) Hydrometer/?l%@jiﬂa

(b) Hygrometer/E\Uﬂ'lﬂET

(c) Spectrometer/@ﬁ%jﬁ??

(d) Eudiometer/gf&aHex

Q2.The force which opposes the relative motion
between different layers of liquid or gases is called

< 1 i it fafte wral & S arifée afy @1 fky
FA I I B FIT HT AT 22

(a)Critical Velocity/fhfedma am

(b)Streamline Flow/ K HATS Wl

(c)Terminal Velocity/'c'fﬁ:ﬂ T

(d)Viscous Force/dTd ¢

Q3. Fathometer is used to measure:

frad a1 F e wriie &1 IuaT fHar e @:
(a) Earthquake/HU

(b) Rain/ast

(c) Depth of sea/AHg HT TERTS

(d) Sound intensity/&f digram

Q4. The energy of wind is-

TA1 BT SHoll ¢ FT -

(a) Only potential/av_dﬁ fRyfarst Sutt

(b) Only kinetic/&ad ol SHoif

(c) Electricalffa?{gfﬂq Solf

(d) Potential and kinetic both/fRUfST 3R Tferst ST

Q5 Which instrument is used to measure sound under
water ?

T & = & a7 F fore fg Iuwwur @1
IUART fohaT ST @2
(@) Hygrometer/@RIHER



(b) Hygroscope/ERIRHT
(c) Hypsometer/@@‘;ﬁET
(d) Hydrophone/’s”lﬂ_ﬁfl.ﬁ:[

Q6. Diffusion of light in the atmosphere takes place due
to:

argsd § UHT HT IR0 fFad HRT giar 7
(a) Carbon dioxide/®Ta SIZ3ES

(b) Dust particles/YcT & B

(c) Helium/giferad

(d) Water vapours/Sicl dieq

Q7. When a mirror is rotated by an angle 6, the reflected
ray will rotate by:

9 TP YU BT 0 P VT U THMT STaT 8, ufafafaa fawor
fora wYor or g

@0

(b) 6/2

(c)6

(d) 26

Q8. Force of attraction between the molecules of
different substances is called

faftr uerif & srupeit & ot & smeur aa & F I HET
ST 8

(a) Surface tension/ddg d-ld

(b)Cohensive force/Ided §al

(c) Adhesive force/3{TEGI® &¢l

(d) None of above/SWRIad & T 13 8!

Q9. The safest temperature for keeping food fresh in a
refrigerator is

Ifpeivey | WHT aTel I@A & e e GRiga arga=
fram @2

(a) 4°C

(b) 8°C

(c)0°C

(d) 10°C

Q10. Which instrument is used in submarine to see the
objects above sea level ?Wﬁ ﬁﬂ'ﬂ??‘lﬁ@m?ﬁ
g3l B WA F T 19 A1 IerET IuART fHan Srar 82
(a) Pykometerfl'ﬂﬁ'ﬁﬂa

(b) Pongraphqu'I?ﬂ"JITCF

(c) Photometer/®IcIHeR

(d) Periscope/AR¥HT

Q11. Why does food cook faster in a pressure cooker?
UIR B A W Aot A 70 uper 32

(a) The increased pressure increases the boiling point./cdld
% 9 I YIS T 8.

(b) Does not waste steam./HTJ gafg T8l E?IT‘ﬁ

(c) The food is cooked quickly by steam./&TT HTY EEEAR
T I .

(d) The water boils at constant temperature.f@ﬂ digdE WR
T I &
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Q12. A biotechnique in which ultrasonic sound is used-
T IR o siegr=e tafs &1 SuaT faar
ST g -

(a) Sonographyf%ﬁﬁﬂTqicT

(b) E.C.G

(c) E.E.G

(d) X-ray/@ag-X

Q13. Bats can fly during dark nights and also prey. This
is because-

TGS T Id P IR I FhdT ¢ 3 Rrer few
(a) The pupil of their eyes is Iarge/GTFﬁ &rr@‘raﬁgaﬁasﬁ
GRS

(b) Their night vision is very good/B:iﬁ A DI ED ggd 3D
g

() Every birds can do this/gX U&ft T8 R Tdhdl §

(d) They produce ultrasonic waves and are guided by
them./d SR T BT ITGT B § AR 3P GRIT
FERE 81 &,

Q14. Which one of the following is the effect of the flight
of supersonic jet?

fFrafafae & ¥« gRAAS S $1 IsH &1 94T 82
(a) Air pollution/drg UgUT

(b) Eye disease/~ 3 I

(c) Depletion in ozone Iayer/GhTrﬂqm_dﬁW

(d) None of these/3TH I H13 Tal

Q15. Which of the following has the longest
wavelength?

FrafafEa & 3 fras) ves ot ae 3w 82

(a) Infrared/ZIPRS

(b) X-rays/Qag-X

(c) Visible light/ExT UDHTRI

(d) Radio waves/ &g T&

S1. Ans.(b)

Sol. A hygrometer is an instrument used to measure the
moisture content in the atmosphere which is also called
as humidity in the air.

S2. Ans.(d)

Sol. The viscous force is the force between a body and a
fluid (liquid or gas) moving past it, in a direction so as to
oppose the flow of the fluid past the object.

S3. Ans.(c)

Sol. Fathometer is an instrument used to determine the
depth of water or a submerged object by means of
ultrasound waves.

S4. Ans.(b)

Sol. The kinetic energy in the energy in moving objects
or mass. The kinetic energy of the wind (wind energy)
can be converted into electrical or mechanical energy.



S5. Ans.(d)

Sol. A hydrophone is a microphone designed to be used
underwater for recording or listening to underwater
sound

S6. Ans.(b)

Sol. Sunlight is the mixture of different colours. When it
passes through the atmosphere it is scattered by the air
molecules, particles of dust and other subtle materials
which are present in the pathway.

S7. Ans.(d)

Sol. If a plane mirror is rotated through a certain angle,
then the reflected ray rotates through twice of that
angle. So if a mirror is rotated by an angle 8, the
reflected ray will rotate by 26.

S8. Ans.(c)
Sol. Adhesive forces are the attractive forces between
unlike molecules.

S9. Ans.(a)

Sol. Refrigerator temperatures do not destroy
pathogenic or spoilage microorganisms. The lower
temperature slows the growth of microorganisms
already in the food. According to international
standards, the recommended temperature of the
refrigerator is 36°F to 38°F (1.7°C to 3.3°C). Thus option
(a) is correct.

S10. Ans.(d)

Sol. A periscope is an instrument for observation over,
around or through an object, obstacle or condition that
prevents direct line-of-sight observation from an
observer's current position

S11. Ans.(a)

Sol. The trapped steam increases the atmospheric
pressure inside the cooker by 15 pounds per square
inch (psi), or 15 pounds above normal sea-level
pressure. At that pressure, the boiling point of water is
increased from 212°F to 250°F. This higher temperature
cooks food faster.

S12. Ans.(a)

Sol. Sonography or ultrasonography is an important
mean of clinical diagnosis. It is a diagnostic imaging
technique based on the application of ultrasound. It is
widely used in the field of medical science. It is mainly
used to provide a variety of information about the health
of the mother during pregnancy, and the health and
development of embryo or foetus.

S13. Ans.(d)

Sol. Bats are a fascinating group animals. They are one
of the few mammals that can use ultrasonic sound to
navigate. As they fly, make an ultrasonic (shouting)
sound. The returning echoes give the bats information
about anything that is ahead of them, including the
speed and size of an insect and which way it is going.
This system of finding prey is called echolocation-
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locating things by their echoes.

S14. Ans.(c)

Sol. A jet engine is a machine for turning fuel into thrust.
The thrust is produced by action and reaction also
known as Newton'’s third law of motion. Those jet planes
which are able to fly faster than the speed of sound are
called supersonic jet planes. Jet engines are
responsible for depletion of ozone. Flying at
stratosphere height, they emits nitrogen oxide which
has the potential to destroy significant quantities of
ozone in the stratosphere.

S15. Ans.(d)

Sol. The electromagnetic spectrum consists of all the
different wavelength of electromagnetic radiations such
as: Radiowaves > Microwave > Infrared > Visible >
Ultraviolet > X-rays > Gamma rays. Thus it is clear that
the radio-waves are having the maximum wavelength
while the Gamma rays are having minimum wavelength.

Q1. What is Vermiculture?

FiffeeaR 71 82

(a) The science of raising wormsﬁﬁé El%'lef CARERIR]

(b) The science of studying animals/tl'-‘éléﬁ BT T TR B
fagm

(c) The science of studying fishes/ABTerdl BT HLTTT TR Bl
fagm

(d) The science of killing worms/?ﬁ% TRA &1 fage

Q2. The study of Gerontology, is related to which of the
following?

RISt ®1 sreae, fFrafafea o @ g @ wefta 8
(a) Child infant/aTet fRIg]

(b) Female/dfgan

(c) Disease of skin/cddl CAECIEIR]

(d) Old age/JGTaRIT

Q3. Genetics deals with-

(a) Mendel's laws/A8d &1 fFaw

(b) Organic evolution/®Tae AT

(c) DNA structure/SITTT TR

(d) Heredity and variations/x’rﬂﬂ?iﬁlﬁv_cﬂ 3R fafaean

Q4. Dinosaurs were:

SR 4T 3:

(a) Cenozoic reptiles/@:mﬁﬁ% ?Rﬁﬁq

(b) Mesozoic birds/Aeige® Teft

(c) Paleozoic amphibians/ﬁf@l@ﬁﬁ% SHIIR
(d) Mesozoic reptiles/ﬁ@l@% Hﬁﬁq

Q5. Poison gland of snakes is homologous to-
YT B} oTeR 41 Y Frwds argpa € -

(a) Electric organ of fishes/A@Trdl & fagga i

(b) Stings of rays/®1SI & S

(c) Sebaceous glands of mammals/AAALTRTT & TG



i
(d) Salivary gland of vertebrates/ HUAD! P AR IR

Q6. Desert plants are generally-

A N AR R FA TSR S A E -
(@ Viviparousf%ﬁaw

(b) Succulent/RIQR

(c) Herbaceous/giaag

(d) Heterophyllousmﬁﬂﬂ

Q7. What is amushroom?
U HYR=H 1 87

(a) Fungi/®d®

(b) Planydiem

(c) Animal/Sfig

(d) Bacteria/STiaTy]

Q8. Which of the following are required for the formation
of bones and teeth?

BEal ok gidt & fmior & forg Prafafea § S«
AT 32

(a) Sodium and Potassium/AIf$TH 3R GrefRad

(b) Iron and Calcium/3TER 3R HfexrH

(c) Sodium and Calcium/AIf$TH 3R Hfckram

(d) Calcium and Phosphorus/%%&'l’qﬁ 3R BRBRY

Q9. Heart beats are caused by an electrical current that
originates in the:

fea 3 yso fFad gR1 3T Tw faggdia uRT & HROT
B E:

(a) Brain/HT&Teeh

(b) Blood/Rad

(c) Heart/fad

(d) Spinal cord/A¥eus

Q10. Which of the following is not the work of roots
Frafafae & 3 7 o5 o1 o T8 3-

(a) Photosynthesis/ T HLATT

(b) water absorption/SIcl Sy

(c) Absorption nutrients/dN® dcd BT ST

(d) To help the plantsf&f%ﬁ B HGE BT

Q11. Which of the following has the maximum efficiency
to convert solar energy into chemical energy?

TR FHoIf B IS FHoll § uiafad v $ g
frrafafea feast gemar sftean 32

(a) Chlorella/aaReT

(b) Tiger/daTy

(c) Earthworm/dga3fT

(d) Cuscutta/3FRSd

Q12. The disease ‘Tetanus’ is also known as
I e F fpad wu F ot 17 S1an 3-
(a) Gangrene/3{ddlq

(b) Shingles/alg
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(c) Lockjaw/?*ﬁ? g
(d) Whooping cough/a&Tei St

Q13. The diseases caused by nematodes
ANTEISH & PRI HI AT INT ST 32

(a) Filaria/mIsaRan

(b) Fluorosis/FaRIRG

(c) Encephalitis/'sfﬁﬁv_cflﬂﬁﬂ

(d) Leprosy/®¥ [T

Q14. Which one of the following pairs matches one
another?

frafifaa & @S9 &1 7w T g A A9 @ e?
(a) Cataract — Thyroid glandfmﬁﬂﬁ?{ — UTRITS TRy
(b) Jaundice — Liver/giferr — gpd

(c) Typhoid — Lungs/CISPIZS - ﬁﬂ?h%

(d) Pneumonia — Eyes/ﬁﬁﬁm - 3

Q15. Which of the following is a broad-spectrum drug
Fraff@e § A 1 ve aue-WAeea g8

(a) Chloramphenicolla%ﬂﬂ‘;ﬁv"ﬁﬁﬁ

(b) Paracetamol/SRTRYeTHA

(c) Xylocaine/a@%

(d) Chloroprene/aﬁﬁﬁg'ﬂ:f

S1. Ans.(a)

Sol. Vermiculture is the process of managing and
cultivating earthworms. Earthworms can help turning
organic waste into nutrient-rich soil for your garden.

S2. Ans.(d)

Sol. The scientific study of old age, the process of aging
and the particular problems of old people is called
Gerontology.

S3. Ans.(d)
Sol. Genetics is the study of genes, heredity and genetic
variation in living organisms.

S4. Ans.(d)

Sol. The Mesozoic Erais the age of the dinosaurs and
lasted almost 180 million years from approximately 250
to 65 million years ago. This era includes three well
known periods, called the Triassic, Jurassic and
Cretaceous periods.

S5. Ans.(d)

Sol. Poison gland of snakes is homologous to salivary
glands of vertebrates. Snake venom is actually the
refined from of its saliva.

S6. Ans.(b)

Sol. A succulent is a plant that stores water for times
when water is not available to it. Succulent plants are
generally found in arid environments such as deserts
and semi-deserts.

S7. Ans.(a)
Sol. Mushroom is a fungus which is used as a vegetable



for food.

S8. Ans.(d)

Sol. Teeth and bones both are hard, white and heavy.
Teeth are composed of calcium, phosphorous and other
minerals. Bones contain calcium, phosphorus, sodium
and other minerals, but mostly consist of the protein
collagen.

S9. Ans.(c)

Sol. An electrical impulse generator, called the “sinus
node”, sends signals from the right atrium to trigger the
heart beat. Like a natural pacemaker, the electrical
current follows a web of pathways through the heart,
causing the chambers to squeeze and relax in a steady,
rhythmic sequence that draws blood into the heart and
pulse it out.

S10. Ans.(a)

Sol. Photosynthesis takes place in leaves which prepare
food for the plants by absorbing light, CO_2 and water.
Generally, root cells do not contain chloroplasts; so
there is no chance of photosynthesis.

S11. Ans.(a)

Sol. In the process of photosynthesis, solar energy
changes into chemical energy. Chlorellais a single-
called green algae belonging to the class of
Chlorophyceae. Chlorella is believed to be capable in
serving as a potential food and energy source.

S12. Ans.(c)

Sol. Tetanus is a bacterial disease caused by the
bacteria Clostridium tetani. When the tetanus bacteria
invade the body through a wound, they produce a toxin
or poison, that causes muscles to become tight, which
is very painful. Tetanus mainly affects the neck and
abdomen. It is also known as “lock jaw” because it often
causes a person’s neck and jaw muscles to lock,
making it hard to open the mouth or swallow.

S13. Ans.(a)

Sol. Filariasis is a parasitic infection caused by thread-
like nematodes (filariae) that belong to the roundworm
superfamily Filarioidea. The disease spreads from
person to person by female Culex mosquito. Edema is
one of the most common symptoms of filariasis and can
lead to elephantiasis, which is characterized by
thickened skin and massive swelling.

S14. Ans.(b)

Sol. Cataract — Eye
Jaundice - Liver
Typhoid - Intestine
Pneumonia - Lungs

S15. Ans.(a)

Sol. The term broad-spectrum antibiotic refers to an
antibiotic that acts against a wide range of disease-
causing bacteria. Broad-spectrum antibiotic acts against
both Gram-positive and Gram-negative bacteria, in

§)=aash § )

Competition Zone
Since 1939

Maharashtra's No. 1 BANKING INSTITUTE

contrast to a narrow-spectrum antibiotic, which is
effective against specific-chloramphenicol is also
known as chloronitromycin. It is a broad-spectrum
antibiotic drug used against serious infections such as
typhoid fever.
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1. The softest mineral, Talc (Soapstone) is mainly: .
Y @i, efed (@IUR) g8 U A FT|:

(a) Manganese Silicate/HTo Riferde

(b) Sodium Silicate/Hf$aH fferare

(c) Sodium Phosphate@%@tﬁ]’?ﬁv_@

(d) Magnesium Silicate/A¥ifRrH Riferpe

Q2. To make the steel hard requires increase in-
THTd B! HSRAT ¢ & forg frae gis smaas @ -
(a) The quantity of Carbon/®Te &1 AET

(b) The quantity of Manganese/'a""l'rﬁﬁf AR E

(c) The quantity of Silicon/Rife® 1A &t AT

(d) The quantity of Chromium/shTREH &1 /T

Q3. The highest amount of Carbon is in-
FTIT Bt T 3ifrw A frad § -

(a) Pig Iron/fOT 3RA

(b) Wrought Iron RYE 3TRA

(c) Steel A

(d) Alloy Steel/ffr8 ST

Q4. Which of the following is not in the form of crystal?
Frafafe & @ @ frea  wud T flar @2

(a) Diamond/@RT

(b) Quartz@l’ciﬁf

(c) Sulphur/Heth]

(d) Graphite AIwTEe

Q5. Burning of Hydrogen produces-

TSIV & e A T I gl 8 -
(a) Oxygen/@:ﬁa%ﬁﬁﬁ

(b) AshRT@

(c) Soil /gt

(d) Water A

Q6. What is heavy water?

ELIRIE T2 i

(a) Oxygen + Heavy Hydrogen/3{TaRISH + gdl 8138
(b) Hydrogen + OxygenlE!'IE?ﬂTrH + 3o

(c) Hydrogen + New Oxygen/E!'IE?ﬂTrH + q&m

(d) Heavy Hydrogen + Heavy Oxygen/%ﬁﬁg@ﬁrrl + gt
SfTerdor

Q7. Water is a good solvent of ionic salts because-
Tt Smafee aquil &1 Uw et faemae § wife -
(a) It has a high boiling poinﬂswgaﬁm%



(b) It has a high dipole moment@ﬁ@ﬁ@?ﬁ &nqﬁ%
() It has a high specific heat/STH T J= fafkiy a8
(d) It has no colour/STe®T g I8l §

Q8. Large quantities of drinking water is prepared from
impure water by-

35 U A IR F Uit Bt 9 A B fFad R R
frar ST 8 -

(a) Desalination feafemzE

(b) Distillation /3{THdT

(c) lon-exchange/3a fafg

(d) Decantation/FEiRol

Q9. Helium is preferred to Hydrogen in air balloons
because it-

BA1 P T A gS S @t ga d 2ferad &) wwig fohan
1T § i Ug -

(@)ls cheaper/ﬂ?ﬁ%

(b) Is less dense WH\’H%

(c) Has greater lifting power /&ﬁ%maﬁiﬁr%

(d) Does not from an explosive mixture with air/gdT & Ty

U fpies Risyor &1 R 78 xar &

Q10. What is untrue for bleaching powder?

=fife urese & fore T v 718 32

(a) It is more soluble than water/dg LIEik:a LNEL T 31
PGERIGE

(b) It is powder of light yellow colour/dg oo Ul [T &1
T3R8

(c) It is oxidant/dg Sefige §

(d) It releases chlorine after reaction with dilute

acid/ SRR S & T UfAfehaT & S1G I8 FARM IRt
FRAT§

Q11. Which one of the following is viscous?
Frafafea & @ 71 we fRufio ga 32

(a) Alcohol/TehIgTa

(b) Water oGl

(c) Honey/Rlgq

(d) Gasoline ARG

Q12. Which acid is used in photography-
BIAUTH § B I TRIS BT WA g 2 -
(a) Formic acid/pTH® 3

(b) Oxalic acid/{TaRITICId 31T

(c) Citric acid/ATgfed 3

(d) Acetic acid/3Rfe® 3nd

Q13. Which one of the following acids is used in the
manufacturing of baking powder?

P urssR & fmfor & fufafaa o I f5g ufrs &1
ITGNT fomaT ST @2

(a) Oxalic Acid/3iTaRTiere SRaT

(b) Lactic Acid/Afded 3

(c) Tartaric Acid/eReR® 31
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(d) Benzoic Acid/AWIg® 31

Q14. The main component of honey is:
TGS T YT UTH T &
(a) Glucose/’@ﬁ

(b) Sucrose/gebIol
(c) Maltose/HTee

(d) Fructose W\—ﬂ

Q15. Methane is present in the atmosphere of-
WA fFad araaur A Hivg B -

(a) Moon/d-HT

(b) sun

(c) Jupiter @%@ﬁ[

(d) Mars /HTTd
Solutions

S1. Ans.(d)
Sol. Talc is a mineral which is composed of hydrated
Magnesium silicate formulaMg_3 Si_4 O_10 (OH)_2.

S2. Ans.(a)

Sol. Steels are alloys of Iron and other elements
primarily Carbon and are widely used in construction
and other area. Carbon inclusion in Iron as a hardening
agent which strengthens Iron by distorting its crystal
lattice. This distortion result in hardening.

S3. Ans.(a)

Sol. Pig Iron has a very high Carbon content, typically
3.5-4.5%. Wrought Iron is an Iron alloy with a very low
Carbon (less than 0.08%) content. Steels containing
0.2% to 1.5% Carbon are known as Carbon steel. The
amount of Carbon in alloy steel ranges from 0.1% to
1%.

S4. Ans.(c)

Sol. Salt, Sugar, Diamond, Quartz. Ice, Graphite etc. are
in the formed crystal but Sulphur is not. Itis a
multivalent nonmetallic chemical element.

S5. Ans.(d)

Sol. Hydrogen gas is highly flammable and burns in air
at a very wide range of concentrations between 4% to
75% by volume. Hydrogen gas cannot burn in absence
of air. But by burning with Oxygen it produces water.

S6. Ans.(a)

Sol. Heavy water (D_2 O) Deuterium Oxide is used as a
moderator and coolant in nuclear reactors because it
slows down neutrons effectively and also has a low
probability of absorption of neutrons. Deuterium is an
isotope of Hydrogen which comprises both a neutron
and a proton. D_2 O is a form of water which reacts with
Oxygen to form Deuterium Oxide (D_2 O), also known as
heavy water.

S7. Ans.(b)



Sol. Water is good solvent due to its polarity which can
easily dissolve into polar compounds. Water dissolves
ionic salts by hydrating their component ions. For
example, water dissolves NaCl by hydrating and
stabling the Na+ and CI*- ions.

S8. Ans.(a)

Sol. Desalination is a process that removes minerals
from saline water (Also refer to removal of salts and
minerals). Seawater desalination has a very effective
way of production of potable water for drinking and
industries.

S9. Ans.(d)

Sol. Helium is preferred over Hydrogen because it is
inert in nature. Also, Hydrogen is highly flammable and
explosive so it would make it unsafe to use in balloons.

S10. Ans.(a)

Sol. Calcium Hypochlorite or Calcium Oxychloride is an
inorganic compound. It is also known as bleaching
powder. Its chemical formulais Ca(OCI) Cl. It is a white
solid, although commercial samples appear yellow.
Bleaching powder is used for water treatment and acts
as a bleaching agent. It is not highly soluble in water.

S11. Ans.(c)

Sol. ‘Viscosity’ of a fluid is a measure of its resistance to
gradual deformation by stress or tensile stress. For
liquids, it corresponds to the informal concept of
‘Thickness’. For example, Honey has a much higher
viscosity than water.

S12. Ans.(b)

Sol. Oxalic acid is used in photography as Ferrous
Oxalate. Formic acid is found in ants. Citric acid is
found in lemon and Acetic acid is also found in vinegar.

S13. Ans.(c)

Sol. Tartaric acid is used in the manufacturing of baking
powder. This tartaric acid occurs naturally in many
plants particularly in grapes, bananas and tamarinds. It
is commonly combined with baking soda to function as
aleavening agent in recipes and is one of the main
acids found in wine.

S14. Ans.(d)

Sol. The main components of honey are fructose —
38.2%, glucose -31.3%, sucrose — 1.3%, maltose — 7.1%
and water — 17.2%. Fructose or fruit sugar is simple
ketonic monosaccharide found in many plants.

S15. Ans.(d)

Sol. First NASA Goddard Space Flight Centre confirmed
the presence of Methane in the atmosphere of Mars. In
2014, Mars Express Orbiter and Canada France
Telescope at Hawaii further confirmed the presence of
methane on Mars.
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Q1. Honey bees are used in:
aynfRaal BT ITET farar Srar 8:

(a) Sericulture AR IETE

(b) Tissue culture/3T® T

(c) Apiculturem“gqatcﬁtlﬁ:[

(d) Pisciculture/H&IUTe

Show Answer

S1. Ans.(c)

Sol. Honey bees are used in apiculture.

Q2. The study of aging is known as-
39 ¢ & Y DI ST STl 8-
(a) Gerontology/GITIﬁSH——I

(b) Ethnology/MTd STifd fax

(c) Anthropology/AJfasT

(d) Thanatology/

Show Answer

S2. Ans.(a)

Sol. Gerontology is the study of the social, psychological,
cognitive and biological aspects of aging. Oncology is the
branch of medical science that deals in treating people
suffering from cancer. Teratology is the study of
abnormalities of physiological development. Ornithology is a
branch of zoology that is related to the study of birds.

Q3. Of the following which one is not a fish?
TP g5l 181 87
(a) Starfish/RERIHR
(b) Sawfish/aTtHT
(c) Pipefish/aTZufthF=T
(d) Guitarfish/fTeRfte=r
Show Answer
S3. Ans.(a)
Sol. Starfish popularly called sea stars are related to the
phylum Echinodermata while true fishes belong to the
phylum Chordata. Starfish do not have gills, scales or fins
which are basic characteristics of fishes.

Q4. Smallest man-like ape is:

(a) Gibbon/e X

(b) Chimpanzee/Rigfsit
(c) Gorilla/MReT

(d) Orangutan/3RACT

Show Answer

S4. Ans.(a)

Sol. The gorilla, chimpanzee, and orangutan are called great
apes in recognition of their comparatively large size and
human like features. The gibbons are called lesser apes.
They are smallest, cleanest and gentlest man like an ape.

Q5. ‘Cloves’ are-
(a) Nodules of stem/aefﬁl'ﬁlb"'
(b) Nodules of roots/\—rls-’f?ﬁ’r?T\fE:ar

(c) Leaves/afyat

(d) Dried flowers@ Bd

Show Answer

S5. Ans.(d)

Sol. Cloves are the aromatic closed, dried floral bud, which
is used in Ayurvedic medicine, making food and as an
anodyne for dental emergencies.

Q6 W_ho discovered the first antibiotic?
Pt Wi fa a2
(2) W Fleming/S&g WifiiT



(b) Louis Pasteur/?ﬁ EIERS

(c)C Waksman/&t aaRTT

(d) A Fleming/T TRIfHT

Show Answer

S6. Ans.(d)

Sol. the first true antibiotic, was discovered by Alexander
Fleming.

Q7. Microbial Type Culture Collection Centre is located
in—

TATSHITA Y Bk FAR e AR -

€) Hyderabad/%m'l?‘{

(b) Bangalore/a'Tl?ﬁT

(c) Chandigarh/@8ITg

(d) New Delhi/s et

Show Answer

S7. Ans.(c)

Sol. The Microbial Type Culture Collection and Gene Bank
(MTCC), a national facility established in 1986 is funded
jointly by the Department of Biotechnology (DBT) ... at the
Institute of Microbial Technology (IMTECH), Chandigarh.

Q8. The main constituent of opium is:

P BT ST 4TS il &

(a) Morphine/ﬁTﬁv_—f

(b) Heroin/g1g

(c) AtropinefQ'cﬁﬁ‘f

(d) Quinine,

Show Answer

S8. Ans.(a)

Sol. Opium is a substance that is derived from the collecting
and drying processes of the milky juice that comes from the
seed pods of the poppy plant. The primary component of
opium is 12% morphine which is an alkaloid that is often
processed chemically to produce illegal drugs such as
heroin.

Q9. The most abundant element found in the human
body is-

g TR & [aR YR A H U WA 9767 99§

(a) Iron/3HTRA

(b) Sodium/AIfsaH

(c) Oxygen/3iTaRiorH

(d) lodine/3MASH

Show Answer

S9. Ans.(c)

Sol. Nearly 99% of the mass of human body consist of just
six chemical elements: Oxygen, carbon, hydrogen, nitrogen,
calcium and phosphorus. Oxygen is the most abundant
element in the human body.

Q10. The smallest bone in our body is found in our-
AR TRR § ¥4 Bt :

(a) Ear/®TH

(b) Nose/dl®H

(c) Eye/ﬁﬁ

(d) Toe/R BT T

Show Answer

S10. Ans.(a)

Sol. the stapes is the lightest stirrup — shaped bone and the
smallest bone in the human body found in the middle of
humans ears. While femur is the largest bone in the human
body. It is located in the upper leg which connects the knee
at one end and fits into the hip socket at the other.
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Q11. Blood group AB can accept blood from a person
which blood group.

T TYE AB TP fcT A T B WBR B FHdl @
foraeT v TyE 8-

(a) A Only/&ad A

(b) B Only/&dd B

(c) AB Only/3&ad AB

(d) Any Group/ﬁﬁé aff qqg

Show Answer

S11. Ans.(d)

Sol. Blood group AB individuals have both A and B antigens
on the surface of their RBCs and their blood plasma does
not contain any antibodies. Therefore an individual with type
AB blood can receive blood from any group (with AB being
preferable), but cannot donate blood to any group other than
AB. They are known as universal recipients.

Q12. The main function of white blood cells is-

Hihq Yo BIRIBI3N BT G- Hf 3-

(a) Transport of oxygen/3fiaRior &1 URagd

(b) Transport of carbon dioxide/®Ta WG{THHEE’ &1 uRagd
(c) To develop resistance towards disease/RAT & U UfeRIY
CARCEaRET

(d) None of the above/SWRIad H ¥ @13 Ht gt

Show Answer

S12. Ans.(c)

Sol. White blood corpuscles (WBCs) are disease-fighting
cells found in blood. When our blood is infected by any
harmful bacteria or virus at any place in the body, white
bloods corpuscles reaches there and eats up or destroys
these harmful outsiders.

Q13. Photosynthesis occurs in-

THTRT ARATT Ehell B-

(a) Night/RTd

(b) Day and night/faT 3R 1@

(c) Day or night/ﬁq RING

(d) Only day/ad fa=1

Show Answer

S13. Ans.(c)

Sol. Through the process of photosynthesis, green plants
have a capacity of manufacturing their food from simple
substances as CO_2 and H_2 O in presence of light.
Normally, plants utilize sunlight (day) but marine algae also
use moonlight. Photosynthesis even occurs in electric light.

Q14. The vitamin available from sun rays is
[ & Suesy :

(a) Vitamin A/faeTfEET A

(b) Vitamin B/faeT®A B

(c) Vitamin c/faerfia ¢

(d) Vitamin D/f/deTfM D

Show Answer

S14. Ans.(d)

Sol. The source of Vitamin D is sun rays. In fact, vitamin D is

synthesized in our dermal cell by sun rays which is released

in the blood. Besides of sun ray, Vitamin D is obtained from

butter, the yolk of egg, liver, and kidney, etc. Rickets in

children and osteomalacia in adults occur due to deficiency

of Vitamin D. Together with Calcium deficiency of vitamin D

causes osteoporosis in older adults.

Q15. Cyanocobalamin is-



(a) Vitamin c/fdeTfia c

(b) Vitamin B_2/f[deTfi- B_2

(c) Vitamin B_6/[deiA B_ 6

(d) Vitamin B_12/f[deifM B_12

Show Answer

S15. Ans.(d)

Sol. Vitamin B_12 (Cyanocobalamin) is a water soluble
vitamin. It contains a metallic ion cobalt. Its chemical formula
isC_63 H_88 CoN_14 O_14 P. It functions as a cofactor
for enzymes in the metabolism of amino acids and fatty
acids, required for new cell synthesis, normal blood
formation and neurological function. Its deficiency causes
pernicious anaemia, nervous symptoms etc.

Q1. The pulse in the human wrist beats-
G TS BT ST -

(a) Faster than the heartléa'qﬂ"ﬁ@mﬁaﬁf B g

(b) Slower than the hearvged &1 ga1 & ¢t gidt &

(c) At the same rate as the heart/ged & THF Tfd 4 ERGIE
(d) Independently of the heart/ged q WA gl &

Show Answer

Ans.(c)

Sol. Pulse rate is defined as the rate at which our heart
beats. It is the number of times our heart beats per
minute (bpm). By checking our pulse using a pulse rate
chart, we can find out how well our heart is working as
our general health and fitness levels.

Q2. What is hemoglobin?

FTR?
(a) Substance found in the leaves of plants At ) afr &
ORI ST are v
(b) Substance found in the bone-marrow/3iY-FesIT § T
S arer gerd
(c) Substance found in human blood/MTd Yad H TR S
aref uard
(d) Secretion coming out from the pituitary gland/ﬁﬁ@ﬁ‘jﬁ
3 gl 9id
Show Answer
Ans.(c)
Sol. Hemoglobin is the protein molecule in red blood
cells that carries oxygen from the lungs to the body’s
tissues and returns carbon dioxide from the tissues
back to the lungs.

Q3. In which of the following creatures haemoglobin is
dissolved in protoplasm-

T uroft & SrARefae ieTuares A faafea
BT g -

(a) Frog/ﬂﬁ

(b) Fish/Agl!

(c) Human/HHd

(d) Eanhworm/ﬁx’:ﬂ

Show Answer

Ans.(d)

Sol. An earthworm is one of the animals that are
classified in the Annelida phylum. In an earthworm,
hemoglobin is dissolved in the plasma. The earthworm
has a closed circulatory system in which blood is
confined to blood vessels which recirculates again and
again to get maximum use of it.

Q4. BCG vaccination (Bacillus Calmette Guerine) is
injected to get immunity from—

BCG &1 FeA ¢ TERE) e ufoven ura s
& fore AT T § —
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(a) polioflfﬁ%ﬁﬁ

(b) cholera/gsit

(c) small pox/&Td TreT

(d) tuberculosis/A&HAT

Show Answer

Ans.(d)

Sol. BCG vaccine. Bacillus Calmette-Guérin (BCG)
vaccine is a vaccine primarily used against tuberculosis
(TB).

Q5. When there is a decrease in the concentration of
oxygen in the blood, the rate of breathing:

oiq Yo § Hhgor § HHI gl 8, A g B
ax:

(a) Decreases/®H Sl %

(b) Increases /EIET-TT %

(c) Does not change/‘l’ﬁ@ﬂ?l?ﬁ

(d) First decreases, then increases /I8d °E STt % frr
Tt §

Show Answer

Ans.(b)

Sol. Hypoxemia or low blood oxygen describes a lower
than normal level of oxygen in the blood. In order to
function properly, our body needs a certain level of
oxygen circulating in the blood to cells and tissues.
When this level of oxygen falls below a certain amount,
hypoxemia occurs and you may experience shortness of
breath. In other words, when there is a decrease in the
concentration of oxygen in the blood, the rate of
breathing increases.

Q6. Which of the following does act both as an exocrine
gland and as an endocrine gland?

P ¥ H S BT 82
(a) Adrenal/31fgad®

(b) Pancreas/3THIRIT

(c) Testis/quUT

(d) Ovary/3SIR™I

Show Answer

Ans.(b)

Sol. The pancreas gland works both as endocrine and
exocrine gland.

Q7. Nutraceutical are products which have-

(a) Nutrients vitamin and minerals v ad faettiq sk
EIEER

1(;rl%_guérients protein and fatty acids/GN® dd WA 3R e

(c) Nutrient and toxic effect/TTN® dcd 3R fauTed UHE &
(d) Nutrient and medicinal effect/dISe dw 3R 3T THTT

Show Answer

Ans.(d)

Sol. The term “nutraceutical” is used to describe any
food or part of food supplements that offers a medical
or health benefit beyond simple nutrition. Such benefits
many include the prevention or recurrence of the
disease.

Q8. Enzyme that is formed by the hydrolysis of starch to
glucose is-

??W%s@ﬁmmmaﬁmw
'\q'[ -



(a) Invertase/3aRey

(b) Amylase/THATS A

(c) Dehydrogenase/fSBTSSIoTof

(d) Anhydrase/

Show Answer

Ans.(b)

Sol. Amylase is present in the saliva of humans and
some other mammals, where it begins the chemical
process of digestion. Amylase is an enzyme that
catalyzes the hydrolysis of starch into glucose.

Q9. ‘ Kanchan’ is an improved variety of -

(a) Grapes/3[R

(b) Indian gooseberry/‘l-ﬂQT'ﬁHﬁaT

(c) Guava/3fHEq

(d) Mango/3™H

Show Answer

Ans.(b)

Sol. The fruits of Indian gooseberry are rich in medicinal
properties. It is rich in vitamin C. Kanchan, Krishna and
Banarasi are some of its improved verities.

Q10. Which of the following is found in the composition
of Vitamin ‘D’?

B & w1 faerfi o 3t Taen & uran wirar 82
(2) Ascorbic acid/ T&pITa® TRIS
(b) Calciferol
(c) Folic acid/pIfere TRYS
(d) RetinolRfea
Show Answer
Ans.(b)
Sol. There are two chemical forms of vitamin D, namely
vitamin D_2 sometimes referred to as (ergocalciferol)
and vitamin D_3 sometimes referred to a
(cholecalciferol). Vitamin C is known as ascorbic acid
whereas vitamin A is known as retinol.

Q11. Arich source of both protein and fat is:
3R TT Y BT Th WY HId AT 8
(a) Coconut/ATRIA

(b) Groundnut/gITe e
(c) Soyabean/aHaTe =

(d) Sunflower/gRSTgE!

Show Answer

Ans.(b)

Sol. The groundnut is arich source of both proteins and
fat. Groundnut contains 25.3% protein and 48.1% fat. In
groundnut, protein 1.3 times of meat, 2.5 times of eggs
and 8 times of fruits in found.

Q12. The substance responsible for bread-making
quality in wheat is-

g A 79 Y oran ¥ g RrfeR el s ar g -
(a) Gluteinfgfe

(b) Globulin A

(c) Glycin

(d) Lycine/?l'l%ﬁ?

Show Answer

Ans.(a)

Sol. Glutein is the protein composite, found in wheat.
Glutein gives elasticity to dough, helping its growth and
keep its shap and often gives the final product a chewy
texture.
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Q13. Which of the following gives maximum energy in
metabolic processes?

o A 7 Iurgeft ufane ® srftrdaw St
TG Pl 87
(a) Carbohydrates/av"liﬁ’?@?
(b) Fats/adr
(c) Proteins/MIe
(d) MineralsRafef Teref
Show Answer
Ans.(b)
Sol. Fats have the highest energy value since 1 g of fat
contains 9.3 kcal (37 kJ) of energy; one gram of proteins
contains 5.4 kcal; one gram of carbohydrates contains
4.2 kcal of energy.

Q14. A plant with green leaves viewed in red light will
appear—

aTer AR A QA IR B T P Uy qrenn wr {1 a
fears dm —

(a) Black/®Tell

(b) Green/gxIl

(c) Red/dlTcl

(d) Violet/sTTt

Show Answer

Ans.(a)

Sol. Red wavelengths are much longer than green, and
when only red light hits a green object, the red is
absorbed and very little of the light is reflected back, so
therefore the color appears black.

Q15. Sleep apnea is a serious sleep disorder, in which
people

ity gufar e iR g iR 3, ford anr

(a) Walk during sleep without knowing what he or she is

%oing./a'swmwé, g WM & fo1 98 ie & SR T
g)ﬁ S%Ieep with eyelids half open./ag 3Meh Geil TaD! & AT

(c) Briefly and repeatedly stop breathing during sIeep.Fﬁ"q'%
GRM Y& H iR TR-IR 4T A1 9 & &4 ©.

(d) Make loud snoring sound while a sIeep.f@%%ﬁW
IRI WA e

Show Answer

Ans.(c)

Sol. Sleep apneais a sleep disorder characterized by
pauses in breathing or instances of shallow or
infrequent breathing during sleep.

Q1. The material used in the fabrication of a transistor is

T giftreer & formifor & wgaa ward @

(a) AIuminum/&m

(b) Copper/didl

(c) Silicon T

(d) SilverraiaY)

Show Answer

Ans.(c)

Sol.The fabrication of the transistor is the process of
creating the transistor that is used in electrical and
electronics circuit. Transistors are made from very pure
silicon or germanium, but certain other semiconductor
materials can also be used.

Q2. In which of the following processes is energy
released?



o & 3 fora uftean & St &1 Ixrei gtar 82

(a) Respiration/4d

(b) Photosynthesis/UaTRT TLeH0T

(c) Ingestion/gd

(d) Absorption/3fa=NeoT

Show Answer

Ans.(a)

Sol. Respiration is the process in which energy is
released.

Q3. If aboy is sitting in a train, which is moving at a
constant velocity throws a ball straight up into the air,
the ball will -

Ife TP ASHT TH 1§ 33T §, Wl FRaR AT R Ta 386t 8,
IR ISP GRT TF Ag H M g A Bpa 8, At g -

(a) fall in front of him/3d T R

(b) fall behind him 3% e TR

() fall into hand /8Ty H faft

(d) None of the above BWRIaGd H ¥ ®is i ¥

Show Answer

Ans.(c)

Sol.If a boy is sitting in a train, which is moving at a
constant velocity throws a ball straight up into the air,
the ball will fall into his hand.

Q4. A person is hurt on kicking a stone due to -

TP TR P A1d AR IR TP Al HI P BRI
qe @it g

(a) Inertia /STSdl

(b) Velocity /AT

(c) Reaction /RuaRH

(d) Momentum /G

Show Answer

Ans.(c)

Sol.A person is hurt on kicking a stone due to reaction.
Here Newton third law of motion is applied which states
that every action has equal and opposite reaction.

Q5. For abody moving with non-uniform acceleration -
AR-FH @R S 1Y 98d IR & R*e-
(a) Displacement-time graph is linear /[ARITTT THT ATH

(b) Displacement-time graph is non-linear =TI 9 I
ew 7
(c) Velocity-time graph is non-linear AT-THT T TRIGD &
(d) Velocity-time graph is linear [AT-THYG U IRAE §

Show Answer

Ans.(c)

Sol.For a body moving with non-uniform acceleration,
the velocity -time graph is non linear.

Q6. Static science is associated with-

o a1y T&fta @2
(a) Dynamic situation fufa

(b) Situation of rest¥% b f&uf
(c) Mental situation/ MRS Rufa
(d) Data analyzing/SeT &1 fazaso

Show Answer

Ans.(b)

Sol. Statics is a branch of mechanics associated with
the situation or rest.

Q7. The colour of the star is an indication of its:

AR BT T SHST P1UP Hbd ¢
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(a) Distance from the earthfq%ﬁ ﬁ'g"ﬁ

(b) Temperature/dTdHIT

(c) Luminosity/<Hd

(d) Distance from the sunf{&cﬁ@

Show Answer

Ans.(b)

Sol. The colour of the stars reflects the age of stars.
Colour is reflected from the temperature is high, then
the star is young. The star will be blue during young
stage which indicates high temperature. If star is red the
temperature is low.

Q8. Power of sunglass is-

YU & I P! TR §:

(a) O Dioptre

(b) 1 Dioptre

(c) 2 Dioptre

(d) 4 Dioptre

Show Answer

Ans.(a)

Sol. The power of the sunglass is 0 dioptre.

Q9. For shaving, one uses-

QfgT & foe, T ITGRT BT AT @ -
(a) Concave mirror/3fadd gUuT

(b) Plain mirror/FHda gUUT

(c) Convex mirror/3<icl gy

(d) None of these/3TH 9 I3 gl

Show Answer

Ans.(a)

Sol. People use a concave mirror for shaving because
when a man standing between the principal focus and
pole of a concave mirror, he sees as enlarged, the erect
and virtual image of his face.

Q10. Which of the following lens is used to minimize
Myopia?

o ¥ @ o1 a1 a9 st &) w0 $ & forg Swm
forar v 32

(a) Convex lens/3dd g

(b) Concave lens/3{aRTd o

(c) Cylindrical lens/dT-THR

(d) None of these/3TH 9 I3 gl

Show Answer

Ans.(b)

Sol. A concave lens is used to remove the defect of
myopia.

Q11. When beams of red, blue and green lights fall on
the same spot, the colour of the light becomes:

W9 ard, i 3R 7Y T Bt AR fiH e fREAwR
fiRA e AR HT I IA @

(a) Violet/STTt

(b) Red/dTel

(c) Yellowsdar

(d) White/Tthe

Show Answer

Ans.(d)

Sol. Red, green and blue are referred to as the primary
colours of light. If we add the pair of primary colours

we obtain white colour.

Q12. The oil in the wick of an oil lamp rises up due to -

TP a9 & RRAT & 90 & a9 fPad aog A SW I & -



(a) Capillary action/TRreT fpan

(b) Low viscosity of oil/dd &1 & faufurge

(c) Gravitational forceW‘ﬁ'ﬂT gd

(d) Pressure difference/gdTd 3R

Show Answer

Ans.(a)

Sol.The oil in the wick of an oil lamp rises up is an
example of capillary action.

Q13. The working of arocket is based on the principle of

e o1 1 frad Rigia w smuia @ -

(a) Conservation of momentum/TTid T TRETT

(b) Conservation of mass/ScaHI b1 TREUT

(c) Conservation of energymfﬁ TR

(d) Conservation of angular momentum/& Uit 7T BT TR&ur
Show Answer

Ans.(a)

Sol.The working principle of rocket is conservation of
momentum.

Q14. Which among the following phenomena of the
optics makes the Endoscopy capable of examining the
internal organs such as Abdomen?
T fora TRt g 72
(a) Interference/Zethyg
(b) Total Internal Reflection/&d 3fidRes Ufcfeid
(c) Diffraction
(d) Scattering
Show Answer
Ans.(b)
Sol. Total Internal Reflection is the principle used in
endoscopy.

Q15. Abomb at rest explodes into a large number of tiny
fragments. The total momentum of all the fragments -
fRR R # 7@ 0o 90 35 Bic gos! | favwifed gt
wirar 8. Tt gpst F pa nifa faraeit gRf -

(a) is zero/R[H

(b) depends on the total mass of all the fragments/ayt gars!
F oo goH R R ararg

(c) depends on the speeds of various fragments/ﬁﬁlﬁw
AR PR F=are

(d) iis infinity/3Md &

Show Answer

Ans.(a)

Sol. When bomb explode the total momentum of all
particle fragments momentum is zero.

Q1. Sky is blue because-

o1 el PR -

(a) Blue colour in the sunlight is more than other colours/ﬁif
& UHTRT B e T 3R TN 9 o §

(b) Short waves are scattered more than long waves by
atmosphere/AIgHSH §RT TG A< del aRAl F AR ol &
(c) Blue colour is more absorbing to eyes/tdl I 3l &
e ol sa=ifvd &

(d) Atmosphere absorbs long wavelength more than short
wavelength/ARIHSe @Y aeieed &) ga-T o et airged &l
I SaRNT FT ©

Show Answer

S1. Ans.(b)

Sol. Blue light which has the least wavelength of all the
visible radiations is scattered most. The blue appearance of
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the sky is due to scattering of sunlight from the atmosphere.
Light of shorter wavelength is scattered by air molecules
which because of their smaller size follow Rayleigh’s
scattering. Blue light is strongly scattered by the air
molecules and reach the observer. This explains the blue
colour of the sky.

Q2. The change of focal length of an eye lense is caused
by action of the

T® 37 A9 B Bied git A ulkads fFad R gar g
(a) Pupil/3i@ &1 gael!

(b) Retina/e¥ued

(c) Ciliary muscles/daRt AU

(d) Iris/

Show Answer

S2. Ans.(c)

Sol. The eye lens is composed of a fibrous, jelly-like
material. Its curvature can be modified to some extent by the
ciliary muscles. The change in the curvature of the eye lens
can thus change its focal length. When the muscles are
relaxed, the lens becomes thin. Thus its focal length
increases. This enables us to see distant objects clearly.
When you are looking at objects closer to the eye, the ciliary
muscles contract. This increases the curvature of the eye
lens. The eye lens then becomes thicker. Consequently, the
focal length of the eye lens decreases. This enables us to
see nearby objects clearly.

Q3. Waves used for telecommunication are-
TAR ¥ 5T YR B a0 BT IuET far Srar € -
(a) Visible light /2T UHTRT

(b) Infrared/’sl_";b"li_ér

(c) Ultraviole

(d) Microwave/HT3gh! oA

Show Answer

S3. Ans.(d)

Sol. The microwaves are high-frequency signals in the 300
MHz to 300 Ghz range. The signals can carry thousands of
channels at the same time, making it a very versatile
communication system. Microwave is often used for point-to-
point telecommunications. Today microwave is employed by
telecommunication industry in the form of both terrestrial
relays and satellite communication.

Q4. A dynamo which is said to generate electricity
actually acts as a

faorelt Ieua w= aTen ST! ara | fohad U § sk
PRATE:-

() Source of ions/3MTT! &1 AT

(b) Source of electric charge/f[dggd 31T &I Hid

(c) Converter of energylmf ¥ yRaxie

(d) Source of electrons/STagi- & A

Show Answer

S4. Ans.(c)

Sol. A dynamo, which is also known as an electrical
generator produces direct current through a commutator. It is
basically a device which converts mechanical rotation into
electric current according to Faraday’s law.

Q5. The technique used to transmit audio signals in
television broadcast is-

o= TErRuT § Siffeat e waia 1 & e i
TP1P BT SHAT BT © - 5
(a) Amplitude modulation/3TATH HIGY T
(b) Pulse code modulation/Te HIE AIGARF



(c) Frequency modulation/&ﬂT;ﬁ u“gaa b

(d) Time dimension multiplication/dHJ G{WHEW

Show Answer

S5. Ans.(c)

Sol. Television broadcasts emit two types of signals, audio
and visual. These two signals require modulation to transmit
both signals at the same time. Analog television requires
transmission that uses specific modulation methods
employing AM and FM signals in its transmission. Frequency
modulation or FM is used for the audio part of the
transmission. Amplitude modulation or AM is used in the
video transmission.

Q6. Dynamo:-

(a) Converts electric energy into mechanical energy fﬁﬂﬁﬁ
olt B AifAE FHoif & FUidRd BT &
(b) Converts chemical energy into electric energy/ RRIRIEED
ol &I faggd ol § FuidiRd HRdl §
(c) Converts mechanical energy into electrical energyﬂﬂ%
ol & faggd ol § FuidiRd HRdl §
(d) Converts electrical every into chemical energyW P

f ufaffd e &
Show Answer
S6. Ans.(c)
Sol. A dynamo is an electrical generator that produces direct
current with the use of a commutator. It converts mechanical
energy into electrical energy.

Q7. Transformer is used for-

i JUART f3a e 3-
(a) Converting AC into DC/AC %I DC ¥ uRkafdd 3 & fom
(b) Converting DC into AC/Converting DC %I AC ¥ gRafda
HA & forg
(c) To step up DC voltages/DC | [ aﬁaaﬁ ¥ forw
(d) To step up or step down AC voltages/DC dleesl &I §GH.
I HH A & forg
Show Answer
S7. Ans.(d)
Sol. The transformer is used to step up and step down the
alternating current. There are two types of coils in
transformers (i) Primary coil (2) Secondary coil. Alternate
current flows through the primary coil which inflicts the
potential in he secondary coil.

Q8. Identify the mineral not associated with atomic

power-
TR e | 1 I WA &1 ugar- - -

(a) Monazite

(b) Thorium/ARa™

(c) Beryllium /aRifeas

(d) Chromium/shITeaH

Show Answer

S8. Ans.(d)

Sol. All options except chromium are being used as nuclear
fuel of radioactive elements.

Q9. Which of the following is not a fuel element?
Frafafaa 3 @ 71 9 19 91 g9 a9 T8 32

(a) Uranium/ge~ad

(b) Thorium/2nfag

(c) Radium

(d) Helium/giferad

Show Answer
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S9. Ans.(d)

Sol. All the radioactive elements are used as the nuclear fuel
except helium because it is inert in nature. It does not form
compounds or react with any other element.

Q10.The Pokhran Il test was conducted on-

graRur fgdia udteror sa smafora fsar mar ot -

(a) June 11th, 1998/11 V[, 1 998

(b) June 9th, 1998/9 S, 1 998

(c) May 11th, 1998/11 H%, 1998

(d) May 29th , 1998/ 29 FE, 1998

Show Answer

S10. Ans.(c)

Sol. Pokhran-II was the series of five nuclear bomb tests
conducted by India under operation “Shakti” at the Indian
Army’s Pokhran test range on May 11, 1998. It was the
second Indian nuclear test after Pokhran-I.

Q11. Which one of the following atomic plants of Indiais
located in the IV Seismic Zone?

YR BT T QA I 1 RUTY TGF F v Y@ &
o fRa @

(a) Kaiga/%fﬂ

(b) Kalpakkam /& dUdh H

(c) Narora/ARIRT

(d) Tarapur/dRT4X

Show Answer

S11. Ans.(c)

Sol. Narora power station is located in the IV Seismic Zone.
Kalpakkam is located into the Il Seismic Zone. Kaiga and
Tarapur are located into the Ill Seismic Sone.

Q12. The fuel used in Fast Breeder Test Reactor at
Kalpakkam is

Feuapd H BRE fisT e Ruaer # swaura giq arer
FUT P A 72

(a) Enriched Uranium/ S XHaH

(b) Thorium/2fag

(c) Plutonium /Qj:cﬁﬁm:[

(d) Tungsten/¢Te

Show Answer

S12. Ans.(c)

Sol. The reactor’s design is based on the French reactor
Rhapsody, with several modifications. Plutonium-uranium
mono-carbide developed indigenously as the driver fuel and
went critical on 18th October, 1985.

Q13. Radioactive substance emits-

Y weref T PIATS -
(a) Alpha rays/3{chl fopof
(b) Beta rays/dier f=uf
(c) Gamma rays AT fasRof
(d) Al the above/Iudad Taft
Show Answer
S13. Ans.(d)
Sol. Radioactive elements are elements that have an
unstable nucleus. When the nuclei are considered unstable,
they radiate alpha, beta and Gamma radiation and is
converted into a stable element. This type of radiation is
invisible for naked eye.

Q14. What are the links between Dhruva, Purnima and
Cirus?

3d, gfofar 3R arRw & g = Ty 72

(a) They are Indian research reactors/dg YR SHYH



Rugex €

(b) They are stars/Ag GIN %

(c) These are names of famous books/dg URIg fodel &
ELK]

(d) They are power plants/ag fSoic T4 &

Show Answer

S14. Ans.(a)

Sol. Dhruva, Purnima, and Cirus are Indian research
reactors.

Q15. What happens if the control rods are not used in a
nuclear reactor?

gfg W] Rudex & Hugid AIgH HT IUANT =51 foran Srar
& AT g 82

(a) The reactor will stop working/RTFR HTH HRAT 8¢ IR CUll
(b) Chain process would go out of bounds/a- Ufekar AT I
STER

(c) The reactor will be slow to act/Rugex o B & i 8
ST

(d) The reactor will continue to work as it is/ﬁ'QEET HTH HRAT

Show Answer

S15. Ans.(b)

Sol. Control rod constitutes a real-time control of fission
Process which is crucial for both keeping the fusion chain
reaction active and preventing it from accelerating beyond
control. These rods are composed of chemical elements
such as boron, silver, indium and cadmium.

Q1.Arthritis is caused by the deposition of which “of the
following” in the joints of the body?

fEar IR F Wil | FAafafaa d I fFas Feu s
PRI T 82
(a) Urea/gRan

(b) Uric acid/@Rd 3
(c) Albumin

(d) Cholesterol/@Iagia
Show Answer

S1. Ans.(b)

Sol.

Arthritis is caused by deposition of uric acid crystals (mono-
sodium urate) in joints and fluids within the body gout, is a
painful form of arthritis.

Q2.Which of the following parasites is responsible for
65% of the cases of malaria in India?

fFrafafEa & @ S 91 wReidt URd | Fafar & 65%
el ¥ g SwRertt 82

(@) P. malariae/dt AafEn

(b) P. vivax/dt aZdeT

(c) P. falciparum/dt BIGITRH

(d) P. Ovale/dt 3ffdd@

Show Answer

S2. Ans.(b)

Sol. Plasmodium vivax is a protozoan parasite and a human
pathogen, the most frequent and widely distributed cause of
recurring malaria. P. vivax is one of the five species of
malaria parasites that is responsible for 65% cases of
malaria in India.

Q3.Hydrophobia is caused by —
fras

PRUT G R -
(a) Bacteria/STaTy]

(b) Fungus/®dsd
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(c) Virus/digxd

(d) Protozoan/HIeISiaf

Show Answer

S3. Ans.(c)

Sol.

Fear of water is known as hydrophobia. Such type of
patients gets afraid from river, lake sea etc. Hydrophobia is
the old name of Rabies which is a viral disease. Its virus
affects the nervous system.

Q4.Anthophobia is fear of the following:
TUTwfaaT fFafefed fraer s 8

(a) Boss/HIc®

(b) Fire/3 T

(c) Flowers /4%

(d) Dogs/&d

Show Answer

S4. Ans.(c)

Sol. Anthophobia is an abnormal and persistent fear of
flowers. The term comes from the Greek roots Anthos
means flower and Phobos means fear.

Q5.The disease caused by swelling of the membrane
over spinal cord and brain is

$ie 1 53) 3R Al WR el &) gora | 8 areft
Tt w32

(@) Leukaemia/afasfrar

(b) Paralysis/SRTferRg

(c) Sclerosis PRI

(d) Meningitis

Show Answer

S5. Ans.(d)

Sol. Meningitis is a disease caused by the inflammation of
the protective membranes covering the brain and spinal cord
known as meninges.

Q6.0ne out of every 200 babies born in India, dies of
diarrhea caused by:

YR ¥ UeT gU 8% 200 I= ® | U, STARAT $t auig A W
SITar 8, ST e $Ro g R

(a) Bacteria/TrﬁHTUl

(b) RotavirusRICTaraRY

(c) Amoeba/3rHiaT

(d) Fungus/®ddh

Show Answer

S6. Ans.(b)

Sol. The rotavirus is a group of RNA viruses, some of which
cause acute enteritis in humans. Rotavirus is the most
common cause of severe diarrhea among infants and young
children. It is a genus of double-stranded RNA virus in the
family Reoviridae.

Q7.The disease hysteria is classed in

(a) Women/Hfgarsit

(b) Men/gsS

(c) Boy/dS!

(d)None of these/STH I H1S g1

Show Answer

S7. Ans.(a)

Sol. Hysteria disease is mainly classed in women. Itis a
genital disease in which the symptoms of anxiety, discomfort
and faintness are found.

Q8.‘SILICOSIS’ is a -



fafeiRa wg -

(a) Kidney disea.se/‘ﬁ CAECIEIR]

(b) Liver disease/qﬁﬂ"ﬁ SiE Kl

(c) Lung diseasemﬁw

(d) Neurological disorder/dfTsh Teeh FHRT

Show Answer

S8. Ans.(c)

Sol. Silicosis is a lung disease that is caused by inhaling tiny
bits of silica. Silica is a common mineral, which is part of
sand, rock and mineral ores like quartz.

Q9.Food poisoning is due to —

@re-faurgor PRUT TR -

(a) E. coli/$. Bt

(b) Salmonella bacilli AT ST

(c) Pseudomonas,

(d) Candida/TSsT

Show Answer

S9. Ans.(b)

Sol. A salmonella infection is a bacterial disease of the
intestinal tract. A salmonella is a group of bacteria that cause
typhoid fever, food poisoning, gastroenteritis, enteric fever
and other ilinesses. People become mostly through
contaminated water of foods.

Q10.The famous ‘Bubble Baby Disease’ is so called
because:

uRiE q9d At o 3t 39 90 A {5y FRuE garn
ST 7

%\%Tlt%is caused by water bubble/Ig T & W & BRI

(b) the suffering baby makes bubbles of saliva/ﬁ’r%ﬁaﬁ]ﬁl?
& gagel §1d §

(c) The suffering baby is treated in a germ-free plastic
bubble/Af$d srel BT M- WP & Fagal | arol
o ST 8

g%lt%is cured only water bubble/8 %ad UM & §aqd 3id

Show Answer

S10. Ans.(c)

Sol. Bubble baby disease (severe combined
immunodeficiency, SCID) is often called “bubble boy
disease”. There are several forms of SCID. The famous
‘Bubble Baby Disease’ is named so as the suffering baby is
treated in a germ-free plastic bubble.

Q11.Which of the following is essential to regulate the
heart beat?

Frafafea & @« foa ot uso= o1 Frifia 1 & fag
SATTLIF 772

(a) Sodium/SIfSaH

(b) Sulphur/deh

(c) Potassium,

(d) Iron/3HRRA

Show Answer

S11. Ans.(c)

Sol. Potassium (K) plays a role in every heart beat. A
hundred thousand times a day, it helps trigger the heart to
squeeze blood through the body. It also helps your muscles
to move, nerves to work and kidneys to filter blood.
Phosphorus is good for the development of bones whereas
iron deficiency leads to anaemia.

Q12.Which hormone controls the quantity of urine from
kidney?
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B TT g TS B 7 Bt 71 ) Frifa wwan @2

(a) TSH

(b) ACTH

(c) FSH

(d) ADH

Show Answer

S12. Ans.(d)

Sol. ADH (Antidiuretic) hormone is released form pituitary
gland which is responsible for controlling secretion of urine
from kidney.

Q13.Cobalt-60 is generally used in radiation treatment
because it ejects—

PlaTeE -60 ATHAR TR fAfHor Iuar A wan farar sirar @
e a8 w1 FPpadr g -

(a) a rays/a faof

(b) B rays/p faor

() y rays/y fox0t

(d) X-rays/X- fof

Show Answer

S13. Ans.(c)

Sol. Coblat-60 is a synthetic isotope of cobalt. Gamma rays
are ejected after the bombing of neutrons on cobalt. This is
the reason, why it is used in radiation treatment.

Q14.The radio isotope used in the detection of tumour is

?mmﬁﬁmmmﬁqm

(a) Arsenic - 74/ - 74

(b) Cobalt - 60/BEE - 60

(c) Sodium - 24/8fSTH - 24

(d) Carbon - 14/&TeH - 14

Show Answer

S14. Ans.(a)

Sol. Arsenic -74 tracer is used to detect the presence of
tumours, Sodium -24 tracer is used to detect the presence of
blood clots and lodine-131 tracer is used to study the activity
of the thyroid gland. Cobalt-60 is used to treat cancer and
carbon -14 is used to date organic material.

Q15.The poison of honey bee is ?

Y AR BT TR 57 THR 51 32

(Q)Acidic/3f=iTT

(b)Saltish/aauita

(c)Alkaline/&RId

(d)Protein/de=

Show Answer

S15. Ans.(a)

Sol. Bee stings differ from insect bites, and the venom or
toxin of stinging insects is quite different. In particular, bee
stings are acidic, whereas wasp stings are alkali, so the
body's reaction to a bee sting may be very different than to
that of a wasp sting.

Q1. Laughing gas used as anesthesia by doctors is-
f GRT WTEROT &b Y H IUGT P o1 arelt SRAT
T g-
(a) NitrogenFﬂETfITrH
(b) Nitrogen Oxide/ATSC oM SHRTZS
(c) Nitrous Oxide/T3CH HIRTZS
(d) Nitrogen dioxideFﬂE‘cﬁTrH SRIAHTRIRZS
Show Answer
Ans.(c)
Sol. Nitrous Oxide (N;O) is also known as laughing gas. It is
a colourless gas with a sweet odour and taste. Inhalation



leads to disorientation, euphoria, numberss, loss of
coordination, dizziness and ultimately a loss of
consciousness. It is also used as the anesthetic gas.

Q2. Easily soluble in water-

T & ST | gaRid 8-

(@ Carbon/@Te

(b) Nitrogen/ATS2IS

(c) Ammonia/

(d) lodine/3aEH

Show Answer

Ans.(c)

Sol. Ammonia being a polar molecule dissolves readily in
water. This is due to the Hydrogen atoms of Ammonia which
are bonded with a highly electronegative Nitrogen and the
Hydrogen atoms of water molecules which are bonded with
the highly electronegative Oxygen atom.

Q3. Which is the purest form of iron
3T BT Yo Y[ U AT 8-

(a) Cast iron/®TC TRA

(b) Pig iron/fOT 3ERA

(c)Wrought ironRTee TR

(d) SteelRET@

Show Answer

Q4. An aqueous solution of copper sulphate is acidic in
nature because the salt undergoes-

PR Tebe BT TP o1 N Upfa o i giar 8 |ife
THD BT -

(@) Dialysis/&FCﬁB:f garg

(b) Electrolysis/fdqgauec g1 8

(c) Hydrolysis/STelid S gl &

(d) Photolysis/BIeTe g BT &

Show Answer

Ans.(c)

Sol. Copper sulphate reacts with water which produces
strong acid H,SO, and weak base Cu(OH) as there is a
process of hydrolysis. So it is acidic in nature.
CuS0O,+2H,0—H,SO,+Cu(OH),

Q5. Sodawater-obtained by passing carbon dioxide in
water is:

;ﬁﬁﬁmﬂqm@hﬁgwmmmw

(a) An oxidizing agent/Tdh SHFIHRUT Toie

(b) Basic in naturefi@'ﬁfff &R

(c) Acidic in nature/S&Td T i

(d) Reducing agent/3{Udldd HRPH

Show Answer

Ans.(c)

Sol. The carbon dioxide (CO,) gas dissolved in water can
cause water to become acidic. When carbon dioxide is
dissolved in the water, if forms a carbonic acid (H,CO3) by
reacting with water (H,O) and remains in dissolved state at
high pressure. So, the soda water becomes acidic in nature.

Q6. Which of the followmg acid do not contain Oxygen-
¥ fr Tirs o sifwfioa 78T @ -

(a) Nitric Acud/:rrs"famqf%s

(b) Sulphuric Acid/IeHIR® TRIS

(c) Hydrochloric Acid/gTZgIaaNe TRS

(d) All of above/IuRTad Gt

Show Answer
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Ans.(c)
Sol. Hydrochloric Acid (HCI) does not contain Oxygen, as it
is a mixture of Hydrogen and Chlorine.

Q7. When eno salt is poured into the water, bubbles
forms, which is due to-

9 Tl T Y U § ST W €, ) gogd S g1 E,
T frd FRUT AT R -

(a) O, gas

(b) CO; gas

(c) CO gas

(d) H; gas

Show Answer

Ans.(b)

Sol. When eno salt is dissolved in water, the Carbon dioxide
gas is produced which produce gas bubbles.

Q8. The chemical used as a ‘fixer’ in photography is-
# o fheR & U # swaHTe fohan S arer

TR -

(a) Sodium sulphatef@f%fm gehe

(b) Sodium thiosulphate/AfETH Rigehe

(c) Ammonium persulphateléiﬁlﬁ'q'q TH&he

(d) Bora:

Show Answer

Ans.(c)

Sol. Sodium Thiosulphate is used in photography as a fixer

of positive and negative.

Q9. Which one of the following is viscous?
& o frafrar 32
(a) Alcohol/3{ehIgTd
(b) Water/dTt
(c) Honey/Rlgq
(d) Gasoline/f Gl
Show Answer
Ans.(c)
Sol. Viscosity’ of a fluid is a measure of its resistance to
gradual deformation by shear stress or tensile stress. For
liquids, it corresponds to the informal concept of ‘Thickness’.
For example, Honey has a much higher viscosity than water.

Q10. Which one of the following sets of elements was
primarily responsible for the origin of life on the Earth?

U QP 91 A G U A it )
Sita 3t Saufd & fore g ur?
(a) Hydrogen, Oxygen, Sodium/gTgsioH, SfiaeH, Qifead
(b) Carbon, Hydrogen, Nltrogen/ﬁ'cf:{ E’I’s{?ﬁTﬂ :HET'ﬁTrFT
(c) Oxygen, Calcium, Phosphorus/\?rﬂa%ﬁTrF{ Wﬂ'ﬁ
BRBRY

(d) Carbon, Hydrogen, Potassium/Te, E’I%@Tﬂ e
Show Answer

Ans.(b)

Sol. Biologist considers that six elements were primarily
responsible for the origin of life on the earth. They are
Hydrogen, Oxygen, Carbon, Nitrogen, Phosphorus and
Sulphur. The matter within every living earthly creature
mainly consists of these chemical compounds. Protein,
Neucleic Acid, Carbohydrates, Vitamins, Hormones, etc.

Q11. Which one of the following was used as a chemical
weapon in the First World War?

fFafafea & 3 a1 ugd fay g & Tt sRaR &
9 | Iy fsar war ur?



(a) Carbon monoxide/@Te nﬁaﬂ“ams—s

(b) Hydrogen cyanide/'s’l%@s_rl:[ BIERIES]

(c) Mustard gas

(d) Water gas/ Sicl g

Show Answer

Ans.(c)

Sol. Mustard gas is a chemical compound which has been
used as a chemical weapon in First World War. Its chemical
name is ‘Dichlorodiethyl Sulphide’. It is a poisonous gas. It
can cause ulcers on the skin.

Q12. Which of the following gases is used in cigarette
lighters?

mﬁ%mﬁﬁaﬁr@aﬁﬁmﬁvmmﬂﬂﬁm
STaT 22

(a) Butane/@@q

(b) Methane/Hta_

(c) Propanef&ﬁﬁ:r

(d) RadonRSH

Show Answer

Ans.(a)

Sol. Butane is a flammable hydrocarbon with the molecular
formula C,Hy,. It is a natural gas perhaps best known for its
use as a fuel cigratte lighters. It is also an organic compound
known as NGL, a Natural Gas Liquid.

Q13. Which one of the following pairs is incorrectly
matched?

fFrafafaa & ¥ 19 31 g Taq B 82

(a) Pyreneﬂﬁﬁ? Fire extinguisher/SWW

(b) Sulphur Dioxide/&feth WGIWEG’ Acid rain/3fT auf
(c) Freon/$541 - Refrigerant/iiaat

(d) FuIIerene/’W Fluorine containing polymer/q?ﬂﬂq
o Tifer R

Show Answer

Ans.(d)

Sol. A Fullerene is a molecule of carbon in the form of a
hollow sphere, ellipsoid, tube and many other shapes. Rest
of the options are correctly matched.

Q14. Cetane number is used as a quality parameter
mainly for which of the following?

Rye=1 e &1 yanT gere: fHafafed § 9 feas fog
ot Rfter & § far wrar 32

(@) Petrolfa?.ﬁ?f

(b) Kerosene

(c) Diesel/Sera

(d) Turpentine Oil/ARYIT &1 dd

Show Answer

Ans.(c)

Sol. The cetane number is used as a quality parameter of
diesel. The combustion of diesel without spark is provided by
compression. Thus as soon as the diesel fuel is ignited and
compressed the cetane number will be higher. This identifies
the good quality of diesel.

Q15. Indane gas is a mixture of-

T farreT fgor @ -
(a) Butane and Hydrogen/@[%’:ﬁiﬁ? HESISE]

(b) Butane and Oxygen
(c) Butane and Propane/sge 3R TiU=
(d) Methane and Oxygen/HI 3R SffeRfeH

Show Answer
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Ans.(c)

Sol. LPG is the flammable mixture of hydrocarbon gas used
as fuel. Indane gas mainly the mixture of Propane (C; Hg)
and Butane (C, Hyp ).

Q1. Deficiency of Iron causes-

TR B S H SR AT TS -

(a) Filaria/mIsaRan

(b) Malaria/Aafar

(c) Anaemia/Rd&g

(d) Fluorosis/RIRIRRT

Show Answer

S1. Ans.(c)

Sol. Anaemia is a condition in which the body does not have
enough healthy red blood cells. Red blood cells provide
oxygen to body tissues. There are many types of anaemia.
Iron deficiency anaemia occurs when your body does not
have enough iron. Iron helps make red blood cells.

Q2. Most frequently used medicine for AIDS is-

%@%ﬁl‘qmmmﬂﬁﬁﬁﬁmﬁwﬁ?ﬁ
(e;) Zedovudine (Azidothymidine)/AI8Igf& (SforSIuTSAfE)
[EIEEAREI]

(b) Micronazol

(c) Nanaxinel-a/AMTeTa-§

(d) Vinajol/farsia

Show Answer

S2. Ans.(a)

Sol. Zidovudine, also known as azidothymidine, is an
antiretroviral medication used to prevent and treat HIV/AIDS.

Q3. Who discovered the H.T.L.V. lll AIDS Virus?
H.T.L.V. Ill U5 91 9t Wil foraq @ o2

(a) Robert GalloRTae I

(b) Edwerd Jenner/GSds Wk

(c) Luck Izon Jenner/@d® ol W

(d) RobertsonRTecgT

Show Answer

Q4. Jaundice affects the-
PRy svar g -
(a) Pancreas/3THIRII
(b) Stomach/3{THIRIT
(c) Liver/ddd
(d) Intestine/31id
Show Answer
S4. Ans.(c)
Sol. Jaundice forms when there is too much bilirubin in your
system. Bilirubin is a yellow pigment that is formed by the
breakdown of dead red blood cells in the liver.

Q5. Which of the following diseases, antibodies cannot
cure?

%e%nﬁ fFrafafaa # 3 59 I, &1 5aTe 981 FR gl
?

(a) Leprosy/®¥ [T

(b) Tetanus/[ee

(c) Measles /AR

(d) Cholera/gsl

Show Answer

S5. Ans.(c)

Sol. Measles is a highly contagious respiratory infection
which is caused by a virus. It can not be cured by antibiotics



whereas leprosy, Tetanus and Cholera can be cured by
antibiotics.

Q6. Which of the following disease is caused by the
excessive used alchoholic beverage?

FrafafEa & Q o= a1 A sewied 30 F Afis SuaT
F RO EIT 32

(a) Appendicitis A

(b) Viral hepatitis/aTaRd gUeIsed

(c) Gall stones/fURITRIA @& Tu™t

(d) Liver cirrhosis/aiaR RRIR™T

Show Answer

S6. Ans.(d)

Sol. It is caused by the excessive use of alcoholic beverage.
Liver Cirrhosis is a serious condition where normal liver
tissue is replaced by scar tissue.

Q7. Bright’s disease affects human body in the part-
mﬁwwﬁ%haﬁﬁwﬁam%-

(a) kidney/ddd

(b) spleen/ﬁic_vﬁ

(c) heart /gad

(d) liverdepd

Show Answer

S7. Ans.(a)

Sol. Bright's disease is also known as uremia which affects
the kidney. It fuses the physiology of kidney; as result, the
amount of urea increases in blood.

Q8. Pneumoconiosis affects the workers who work

mainly in:
BT U A Hgl B4 B ardd 4Dl B
g FHeaT @
(@) Tanneries/@H TN
(b) Coal mining industry/@dT G- SET
(c) Distilleries/
(d) Glass Industry/f@rg IENT
Show Answer
S8. Ans.(b)
Sol. Pneumoconiosis is an occupational lung disease and a
restrictive lung disease caused by the inhalation of dust,
often in mines. The miners feel difficulty in breathing.

Q9. The factor of madcow disease is-

BEHIS, INT BT HREG FIT 8 -

(a) Bacteria/TrﬂaTE[[

(b) Virus/Aigxd

(c) Fungus/®d®’

(d) Prions/¥rA1

Show Answer

S9. Ans.(d)

Sol. Mad cow is a dangerous disease related to the brain of
cattle. Distorted protein ‘prion’ in their brain is the factor of it.

Q10. Foot and Mouth disease in animals, a current
epidemic in some parts of the world, is caused by :
FH AR 3R 15 A1, g & oo fewdl A v adum=
e B, 7€ fud ST gl @
(a) Bacterium /G1°ra1111
(b) Virus/fawTY]
(c) Fungus /pd&
(d) Prions/UTd
Show Answer
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S10. Ans.(b)
Sol. Foot and mouth disease is a viral disease the affects
cloven hoofed animals, including domestic and wild bovids.

Q11. In a patient of Thalassemia, the body is unable to
synthesis-

F TP MM A, TR frad dxavor & srawd g
ST e -

(a) Vitamin D/fdeTf[ D

(b) Hormones/%]ﬁﬁ

(c) Haemoglobin/gHraIfe=

(d) Protein/ic

Show Answer

S11. Ans.(c)

Sol. Thalassemia is a genetic blood disorder. In a patient of
Thalassemia, the body is unable to synthesise enough
haemoglobin, which causes severe anaemia.

Q12. Interferon is used for the control of

: 11 &1 ST e fReamr & o forar S 8-
(a) Cancer/$R

(b) Diabetes/ﬂﬂﬁ?s’

(c) T.B.AT .

(d) Typhoid/CIghIgS

Show Answer

S12. Ans.(a)

Sol. Interferons (IFNs) are a group of signaling proteins
made and released by host cells in response to the presence
of pathogens such as viruses, bacteria, parasites or tumour
cells such as in cancer.

Q13. All of the following diseases are caused by virus
except

frafafaa # frd o = 9wt faial arrg & SR
Bt 8-

(a) Dengue /@11

(b) Influenza/STRITSIT

(€) Mumps/&USHTET ST I

(d) Typhoid/CIg®IgS

Show Answer

S13. Ans.(d)

Sol. Typhoid is caused by Salmonella Typhi bacteria. Other
three are viral diseases.

Q14. The disease in which high levels of uric acid in the
blood are characteristic is

g I o v # g TRIs ST ER IH @ W R,
fpad waor €

(a) Arthritis/3rITRIT

(b) GoutATI3<

(c) Rheumatism ReHHCH

(d) Rheumatism heartRe&HHEEH BTE

Show Answer

S14. Ans.(b)

Sol. Gout is a disease caused by high level of uric acid in the
blood (hyperuricemia). It causes an attack of sudden burning
pain, stiffness and swelling in a joint.

Q15. Which one of the following diseases can not be
controlled by vaccination?

P 3t AR B St @ fFrfia
&Y foram o 9ear 22
(a) Diabetes/ﬂ{l,‘ﬁ—s'
(b) Polio/aifera



(c) Whooping Cough /&Tel @it
(d) Small-po

Show Answer

S15. Ans.(a)

Sol. As per question; Polio, whooping cough and smallpox
can control by vaccination but there is no vaccination
available for diabetes. Diabetes is a disease related to
pancreas which is caused due to insufficient of insulin in the
blood.

1. The remove the defect of long sightedness one uses-
e =¥ o & s A fraeT Iuai farar wrar @ -

(a) Concave lens/3{dddl g

(b) Convex mirror/3Tcl ggur

(c) Convex lens/3dd o

(d) Concave mirror/3{ddal gqur

Show Answer

Ans.(c)

Sol. Farsightedness (Hypermetropia) as it is medically
termed is a vision condition in which distant object are
usually seen clearly, but close ones do not come into proper
focus. To remove this vision problem one should use a
convex lens.

Q2. An air bubble in water will act like a:

% ga1 BT gagar Ut ¥ fraat avg srf Hear @

(a) Convex mirror/3Tcl

(b) Convex lens/3dd S|

(c) Concave mirror/3(dad YUl

(d) Concave lens/3{dda g

Show Answer

Ans.(d)

Sol. Air is optically rarer than water, the ray of light bends
away from the normal at the point of incidence when moving
from water to air while it bends towards the normal while
moving from air to water. It is clearly visible that the air
bubble acts as a DIVERGING LENS (concave lens) in water.

Q3. Sea seems blue due to-

% frad srur a1 o1 fewrs ear g -

(a) Excess deepness/&l?\’il'fw TR

(b) Reflection of sky and scattering of light by the drops of
water/3MTHTR HT Ufafdd 3R urf &t gaf J YT &1 hara
(c) Blue colour of water/aTl T =iaT X

(d) Upper layer of water/d! @1 SUR1 IRd

Show Answer

Ans.(b)

Sol. "The ocean looks blue because red, orange and yellow
(long wavelength light) are absorbed more strongly by water
than is blue (short wavelength light). So when white light
from the sun enters the ocean, it is mostly the blue that gets
returned.

Q4. The light with the shortest wavelength is

TR T S aTaT YoHT B A -

(a) Red/dldd

(b) Yellowrdian

(c) Blue/iar

(d) Violet/ ST

Show Answer

Ans.(d)

Sol. Wavelength of red colour is largest and violet colour has
the shortest wavelength.
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Q5. The cooling by a desert cooler is based on-

IRrET TR gRT iRt 5w w emutfa B -
(a) Hot air replacement/“'lﬁ%ﬂﬁlﬁ?ﬂﬂ?

(b) Air dehydration/gdTl

(c) Evaporative cooling/?:!'l'ﬁfl"\’ﬂﬁ 2fide

(d) Air rehydration/gaT JTSiciids 0T

Show Answer

Ans.(c)

Sol. The cooling by a desert cooler is based on evaporative
cooling. These coolers are also known as swamp coolers.

Q6. Cooling is done by-
FR1 fsaT iTar -
(a) Flow of water/IT @1 Jarg
(b) Release of compressed gas/ﬂtﬁ%ﬁﬁﬂﬁﬁw
(c) Cooking gas/did EEIEkakr:|
(d) Melting the solid/31 1 fUrereR
Show Answer
Ans.(b)
Sol. Most of the air conditioner uses compressed gas, which
can cool the room or other places.

Q7. On adding common salt to water, the boiling point
and freezing point of water will:
g:h;rﬁsmmﬁaﬁw, YD 3R fFuis o T

(a) Increase/?{@

(b) Decrease/®H!

(c) Decrease and increase respectively/sh HXI: HH 3R q@
(d) Increase and decrease respectively/SHT: gfg 3R HHT
Show Answer

Ans.(d)

Sol. If salt is added to the water then the boiling point of
water will increases. This happens as the boiling point is the
temperature at which the vapor pressure of solvent becomes
equal to the external atmospheric pressure. Similarly it also
decreases the freezing point, which in turn will interfere with
the frozen solution’s crystal structure. That means the
temperature will have to be colder to overcome it and freeze
the mixture anyway.

Q8. To keep drinks at the same temperature for quite
sometime, the walls of thermos bottle are coated with:

U o1 YIS U & T 01 a19HHE ® @4 & forg, 3y
Fiaa & HaR) F Tae B fFad afva fear s
(a) Aluminium paint/Teafiad e

(b) Lead Powder/dI8 T3 8%

(c) Silver layer/RIeaR TRd

(d) Mercury Layerﬂ:lm Wd

Show Answer

Ans.(c)

Sol. The glass or steel which is used in thermos bottle is
coated with a silver layer to keep drinks at the same
temperature for some time.

Q9. The atmosphere exerts enormous pressure on us.
But, we do not feel it because

JIATaRYT gUR TR U 19 STadT 8. A, 89 39 Wegy
T X U it

(a) Our blood exerts a pressure slightly more than that of the
atmosphere./GART Y& aigHSd 1 gadl 8 dis! 3P gaa
STAT R,

(b) We are used to it./8H §9® 3G & ﬂ% g



(c) Our bones are very strong and can withstand the
pressure./8UR BgaT 9gd AGIE & 3R GaTd BT AT R
BSEIE

(d) The surface are of our head is very small./%ﬁﬁ R 3
g §gd BICI 8.

Show Answer

Ans.(a)

Sol. The atmosphere exerts enormous pressure on us but
we do not feel it, because our blood exerts pressure slightly
more than that of the atmosphere. We feel this pressure in
water because the pressure underwater is greater than our
normal blood pressure.

Q10. Assertion (A) : With the increase of temperature,
the viscosity of glycerin increases. 3By (A):
AT F1 gfg F 1Y, T ) Rufuree g¢ wkd 8.
Reason (R) : Rise of temperature increases kinetic
energy of molecules./®RUI (R) : mﬂaﬁ%w
ULt B TIferet Feif o el 8.

Code/PIs:

(a) Both (A) and (R) are true, and (R) is the correct
explanation of (A)./&HI (A) 3R (R) 9 §, 3R (R), (A) BT Ia!

(b) Both (Aj and (R) are true, but (R) is not the correct
explanation of (A)./GHI (A) 3R (R) ¥ €, Al (R), (A) BT
e WHIHRUI e 3.

(©) (A) is true, but (R) is false./(A) Td &, Afb (R) 39 &.
(d) (A) is false, but (R) is true./(A) 31T &, AP (R) T &.
Show Answer

Ans.(d)

Sol. The temperature dependence of liquid (Glycerin etc)
viscosity is the phenomenon by which liquid viscosity tends
to decrease as its temperature increases. The increase in
temperature causes the kinetic or thermal energy to increase
and the molecules become more movable.

Q11. Food gets cooked faster in a pressure cooker
because- ]

UIR FH A WHT e THTT o TPl § AT -

(a) Water starts boiling at a lower temperature due to high
pressure/I= 8T F HRUN YT HH AYHM TR I &

(b) Water starts boiling at a higher temperature due to high
pressure/3= a1 P HRUN U 3= dIIHM TR Il §

(c) Water boils only at 100° C but the heat content is higher
at high pressure/qFﬁ Pad 100 &l TR IS &
A I I3 qa1a H e gl §

(d) Convection currents are set inside the cooker/ddg- YRTY
PP P R Y P AR §

Show Answer

Ans.(b)

Sol. Food can be cooked faster in a pressure cooker since
the boiling point of water increases with pressure. As the
water boils, the steam produced cannot evaporate so the
pressure inside the cooker increases. At higher elevations,
atmospheric pressure is lower and therefore water boils at
lower temperature.

Q12. When a piece of ice floating in a glass of water
melts, the level of water will:

9 Uw e urit & ar 9 &1 gpet fad wrar @, @
Tt T wR:

(a) Fall PH BT &

(b) Rise/@gdl &

(c) Remain same/ﬂ'ﬂﬁ?ﬁ?ﬂ%
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(d) Fall or rise depends on the temperature of water/&H! a1
gfg urt & amEH R R st g

Show Answer

Ans.(c)

Sol. We know that the mass of liquid displaced by the
floating ice equals to the mass of the object. That’s why the
ice caps float on water. Similarly, when an ice cube melts in
a glass of water, the water level does not change as the
melted water will occupy exactly the same amount of space
as the ice under the water level previously occupied.

Q13. If a gas is compressed to half of its original volume
at 27°C, to what temperature should it be heated to make
it occupy is original, volume?

gfe frlt 7y 1 27 fE3ft AfRTTT W 3o+t 4@ S &
3 ¥ T forar wirar 8, O ST Yod Taa- I
P fore =9 ford aTuHT W T HAT BRI

(a) 327°C

(b) 600°C

(c) 54°C

(d) 300°C

Show Answer

Ans.(a)

Sol. According to the law of gases

From formula = V,/V, =T,IT,

V;=V/2 and V,=V[given]

T,=273+27=300K

T=7

(VI2)IV=300/T, =T ,=600K

~T,=600-273=327°C

Q14. A device which converts electrical energy into
mechanical energy is-

TS SUSHIYI S fagga St B Fife ol & ufkafda swar
(a) Dynamo/ST3=H!

(b) Transformer/gi

(c) Electric motor/fdggd Alex

(d) Inductor/$8dex

Show Answer

Ans.(c)

Sol. Electric motor is a device which converts electrical
energy into mechanical energy. Electric motors involve
rotating coils of wire which are driven by the magnetic force
exerted by a magnetic field or an electric current.

Q15. Electric motors operating at low voltages tend to
burn out because-

P dieds W o aTell Safaed e od wrdl § Fife -

(a) They draw more current which is inversely proportional to
the voltage /T8 faggd uRT 1 yaTg gar g o

BIl B,
(b) They draw more current which is inversely proportional to
the square root of the voltage./37H i@ faggd YRT &1 Yag
BT & Sl dleol & o7 & HehHU EIell B
(c) They draw heat proportional to V2.8 VZds FHIUIT ST
IqUF HRA &
(d) Low voltage sets in electrical discharge./ ®H gl

Show Answer

Ans.(a)

Sol. Electric motors operating at low voltage tend to burn out
because they draw more current which is inversely
proportional to the voltage



Q1. The mutation theory of evolution was enunciated by
ERT ffteuad
fomam mam ur?

(a) Huxley / e

(b) Darwin /

(c) Lamarck / NEICT

(d) Hugo de Vries / M S faed

Show Answer

Ans.(d)

Sol. Hugo De Vries is known for his mutation theory of
evolution. According to him, new species are not formed by
continuous variations but by the sudden appearance of
variations, which he named as mutations. He stated that
mutations are heritable and persist in successive
generations.

Q2. The main factor of evolution is-

faeT &1 481 PR §-

(a) Mutation / gRac

(b) Achieved quality / UTtd Y[0TdT

(c) Vaginal birth / T 57

(d) Natural selection / WTpfdd T

Show Answer

Ans.(d)

Sol. According to Darwin’s theory of evolution, natural
selection is one of the basic mechanism of evolution along
with mutation, migration and genetic drift.

Q3. Alfa toxins are produced by —

et e verd fbad grT Affa g §

(a) Fungi/ Pd&

(b) Algae/ JaTd

(c) Bacteria/ \_rﬁa'l'q

(d) Viruses / IOy

Show Answer

Ans.(a)

Sol. Aflatoxin is a poison produced by a fungus, called
Aspergillus flavus. This fungus resides in soil and dead/
decaying matter in the field. Aflatoxin contaminates 25%-+ of
maize and groundnut crops produced in Nigeria. It is very
dangerous to humans and animals.

Q4. Pleurais the covering of —

R SATaRT -

(a) Liver/ gd

(b) Kidney/ dd&

(c) gad/

(d) Lung / ST

Show Answer

Ans.(d)

Sol. A pleura is a serous membrane which folds back onto
itself to form a two-layered membranous pleural sac. The
outer pleura (parietal pleura) is attached to the chest wall,
but is separated from it by the endothoracic fascia. The inner
pleura (visceral pleura) covers the lungs and adjoining
structures, including blood vessels,

Q5. Which is the largest mammal?
JIH TST IR I A1 82

(a) Blue Whale / & &d

(b) African Elephant / SpTDT BTt
(c) Hippopotamus /f«“ﬁ'qT‘chhET

(d) Polar bear / Y3 T,

Show Answer
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Ans.(a)

Sol. BlueWhales are largest mammals ever known to have
lived on earth.

Whales range in size from the blue whale, the largest animal
known to have ever existed at 30m (98 ft) and 180 ton (180
long tons; 200 short tons) to pygmy species such as the
Pygmy Sperm Whale at 3.5 m (11 ft).

Q6. Which of the following species is the largest of the
‘toothed-whales?

fFafafaa & @ o149 @ yonfa ‘gider <@ & a9 981 32
(a) Finback whale / flFe® &

(b) Blue whale / & &d

(c) Sperm whale / @ﬁ%ﬁ

(d) Humpback whale /E"CI% =d

Show Answer

Ans.(c)

Sol. The sperm whale (Physeter microcephalus) is the
largest of the toothed whales with males growing up to 20
meters in length. The mass of sperm whales ranges
between 35000-57000 kg. Female only weight about 1/3 of
the males.

Q7. Which among the following one lays eggs and does
not producq young ones directly?

Cral? T QP 3 a1 8 3R W I B 5 T
?
() Echidna / 3f&s

(b) Kangaroo / HITRs

(c) Porcupine | Tt

(d) Whale / ®¢

Show Answer

Ans.(a)

Sol. Echidnas sometimes known as spiny anteaters belong
to the family Tachyglossidae in the monotreme order of egg-
laying mammals.

Q8. From the following option, seal is the species of-
fawea A, Wa frast yenfaai 2-

(a) fish / A<

(b) bird / Fafgan

(c) Reptiles / TG

(d) mammal / TFTaRft

Show Answer

Ans.(d)

Sol. Seals are semi-aguatic mammals, they are in a group

called pinnipeds mean fin-footed. All seals are carnivores.

Their diet consists of mostly fish, crustaceans, and shellfish.

Q9. Amphipia are-

(a) Very fastly moving boats / dgd EEIEERECIRIEICl

(b) Animals living in water only / Had gl H I ara Sfig

(c) Animals living on land only / Fad ﬂ;[limwg#arﬁ\‘sﬁa

(d) Animals living equally in water and on land both /T 3R
M IR SHH U 9 I8 a1 Silg

Show Answer

Ans.(d)

Sol. The word “amphibian” is derived from the ancient Greek
term ampbhibious, which means “both kinds of life”. The term
was initially used as a general adjective for animals that
could live on land or in water. They are ectotherms or cold-
blooded animals, means they are unable to regulate their
own body temperature.



Q10. Which of the following property separate a
man/human from apes:-

T A I AT 01 TH THT B TR | SrerT
PIATE:
(a) Envice a desire to learn | TR BT IER &
(b) By a rudimentary sense of smell / Tie ‘v'l'l:l?d%[ Cal QEFN
Hrd
(c) Contrary thumb / fAU_id S
(d) Broader chin /aﬁ—eﬁaﬁ
Show Answer
Ans.(a)
Sol. Human is the smartest creature in the animal kingdom.
They are they only creature, who has a desire to learn and
the ability to express.

Q11. Octopus is:

SHTerToT T @

(a) arthropod /e 3Mmifdls

(b) An echinoderm/ & Eﬁ’—ﬁ@ﬁ

(c) A hemichordate/ T&

(d) A mollusc /T% HIeRD

Show Answer

Ans.(d)

Sol. An octopus is a cephalopod mollusc of the order
Octopoda, also knows as devil fish. It has two eyes and four
pairs of arms and like other cephalopods, it is bilaterally
symmetric.

Q12. The largest invertebrate is-
ST APIFD 8-

(a) Octopus / 3figeag

(b) Squid / @IS

(c) Coral / 9T

(d) Jellyfish / Sfftrer

Show Answer
Ans.(b)

Sol. Invertebrate is the animals that do not have a backbone.

The colossal squid is the largest invertebrate. It's maximum
size is 12-14 metre.

Q13. Among the following organisms, which one does
not belong to the class of other three?

Sad AT dT F Tt A
Jeftrd 78 82

(a) Crab / &l

(b) Mite /Y

(c) Scorpion / fosg

(d) Spider / H®HS!

Show Answer

Ans.(a)

Sol. Class of crab : Malacostraca
Class of mite : Arachnida

Class of scorpion : Arachnida
Class of spider : Arachnida

Q14. Ringworm s a ......... disease.
QGqd ...
(a) Bacterial/ SfiaTg]

(b) Protozoan/ AEISlaf
(c) Viral/ draRa

(d) Fungal/ ®ddh
Show Answer
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Ans.(d)
Sol. Ringworm, also known as dermatophytosis or tinea, is a
fungal infection of the skin.

Q15. Ticks and mites are actually:

A 3R A aRAa A &

(a) Arachnids / 3RS

(b) Crustaceans / PR

(c) Insects /@I

(d) Myriapods / A8 RamdTgd

Show Answer

Ans.(a)

Sol. Ticks and mites belongs to one of the most diverse
groups of class, Arachnids. They have 4 pairs of legs,
although some juveniles only have 3 pairs gaining the fourth
pair with their first molt. There is no external segmentation of
the abdomen, individuals appear as a single body mass.




